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STEP -2. 23| mojo} 20| 715

2% (sentence)?| Ho|(definition)2 H|CHZ LOt0F 20| = L2 3

(grammar)2| M1t 7|52 H&s| Olaliet 4~ JUSLICE

M st A]

« 29| H9|(definition of sentence)

« ZZ0| 2F0{0F & LI 2-EH(logical completeness)2| 20|

- Ui SHol B o1e0] Ot ‘HETE Fhlel 24 i



Qo= 015 7HX| BFR(eight parts of speech)9| TtO1E st A=, 0152 28 W& ZPAl Xt
2O| EHEst 7|52 +AYLICH 28 oM & 7l5S Y5 2 AS R0l £ 2E0E Mzt
£ SH|IM To{word)2t EAMKpart of speech)% et53h= 20| SQELICE

olE SO0M, SAkverb)= SEO|L} HEHSE HEHSH= THO0|H, 2 LM =0 (predicate)22 7|5

Job TIT
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SIS 7 E0] 1, A= Mol ZEXH5t= A 22 ARO[ 42t sl = = FHHQl A2l 0|8
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A5tz Tl 7t ci"AKpronoun) LICt
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STEP 4.712
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* inflection
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STEP 5. (2= uig 7xst o

Al

Kk

{IT
__Oﬂ

I+

F

[Al

P

=)

< 7|12 2F U2l 7|

=8 T30 ORLEX| =

3.

14



STEP 6. (2% g 7|5t g 1-2] 4]0

Al(modification) 7H&
* modification?| 2|0]
« F7tE HHol £
o A0 (head)
o A2 A &= EAR| 7|8
» ¥ EAHadjective)
+ HEAladverb)

1

A =
. _I_Alo-l — ZXIOA
A A
. _I_A|O-| - AlO-I — BXIOA

« Z[E AU Y2 HA/C AL 2H0M 2 FARL] 7]
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29| ZIEHA LT,
2. G0 22 SAe| LHES 2tdot= BAlo2 31 EL|CH O] | AL E|l= BES 2824 (elements of
sentence)2tl FE=0|, 2 E[0{0F & SAt= &0{(predicate)Ol2t X[FELICEH
3. G0 22 2 7Y £ U= AXE HO|X[2H, AtA BHo{Qf | 71X| O /32| e = 74 ElL
Ct. 4l 7kX] 2|0|F32 CHiE = s3H0| ({3 ZE2] OH’H sH2 d8gL k.
A2 UiAIstAHLE, A E F7tst
E&elX|= Olge 280 MHE LIE

o|0fE 2+dsto HSofT 22 HoE 2ln]

2012 ALBE SAle)
WBPXE ZR3t0] FHE BT 23| 237t
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Sentence

How to combine them to compose a sentence?

SAE ZSAE AN +=SEf 7FEY BEAL STAL EAF HEA TXA 2AAL DEAF BAF H|W SpE QX 2

AL CHEAL

=H2 22 e 7 #=el UEHYLITE

O SetHHiel2 2 =S ZE6i 282l LI8S Fdsts LS FEsh & AMVie? 2|1 29| L
82 7Ysts Y2 =28, 2 S diMsts Y-l st

Qi SO ZHS UR0] S0 =76t 22| L8 A2 =8, s =X} HAHY 5h= 0|fR= FAENR?
ZA 2F UE 74 mEl0I2t= 20| ofl, CHE 2HE|M 23S il 20| oF7te? T A =Xt &S
Of st= A2 orEntR?
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QEE ‘?‘l L O =
Ao EH2 At UES eHdst= Halez 71 ELICL Ol M M8 &= BES =&
sentence)2tl FE=0|, 2H E[0{0F & SAt= &0{(predicate)Ol2t X[FELICE
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YAHCHEADLE FEAVE SALL| 20IE
2t Al7[7] I8t SXOLE HOZ &
EILICH 202 ALEEl SAIQ| oJDIE
=2 X2 2MAF|7] RIS AR
fle 2E8 2E2 A (elements of
sentence; 20, 80, E0{, F0{)2t
o X|EE|CE,

SA2| o[0|E g5t A2 o[O] At
Hofl 78 El0] ASLICE. FolE Tty
2 AE5HH gLt 0|2 289 5
O[2t X|F5t7| = ghchat. .

=02 AL EE SAte| Qof7t 2bdE 2

0FSS &8st £0{(complete
predicate)O[2t11 X|E L[

32
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verb noun

complete predicate



2 E SAe| 2l0|of F=5HM2

A man knotted 39 cherry stems with his tongue in three minutes.

=AM E HQlst 2tFTH 20 T2  knotted (EX) + stems (BX0)

e SAe| 2lO| £718 |/t

BEH2A  man (F0) + knotted (&0{) + stems (2X0])

In Siberia, solid blocks of tea were used as money until the 19th century.

A E H|elsh §AXEt 20 B2 were used (20])

SEMEl E Aol o|O| A& EIACE

Q4 blocks (F0{) + were used (20)

MO
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George, in excellent physical condition, ran the fastest of all and won.

* ran (80

A E Nelst 2tFst =20 T3 N
« won (&%)

[ T L

0

. HQirC}

. 923}

el SAte| 2l0]

—

+ George (F0]) + ran (£0])
+ George (F0{) + won (£0{) [HE1X]

Ho
0.

The exposure to fine art allows a student to have an aesthetic experience.

+ allows (20) + student (F&0]) + to have experience (S E0])

AAE HQ5t 2tFIsH 20| 2
=401 E A2 =01 % * have (£0]) + experience (5%0)

IJIo

A 71 -|° =2 5i2k
21Nl SAfe] 2/0) 20| SRS SH=S =i

§I
. Zgsict

* exposure (F01) + student (FX0]) + to have an aesthetic experience(Z&E0, to
YA BFARR)

« student (20|14 F0{) + have (£01) + experience (FX0)
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» Verb
* Noun(Pronoun)

to infinitive phrase
gerund phrase

verb oun participle phrase
N
noun clause
adjective clause
complete predicate adverbial clause
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0|2 A&l SAL HBlshs "SA”
O|L} "&fE" 2] F=H|Ql F0{(subject)E
7151 2F0| g ElLot.

{m]
A

02 AFZEl SAtS| FA0f
A0|BE, SAtS
HEOZ AIZEH

U o34
o rot
>

oz 10 rH 4y
0% M
_O'I_l
rir
M
FO r

e S Q@

=
il

verb

noun

complete predicate

|

subj

complete predicate
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verb noun

complete predicate

|

subj complete predicate

sentence

|

sentence conj sentence

clause clause

combined sentence
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(auxiliary verb)2t 2% £[0| 202 AIEEl &
AR7} 2l0|Gt= " SAFO[Lt " e 2f ZHRAE Al
7+ HH(tense + aspect), T0{2te| A HE
(EH, voice)= =2 80| MHst= HEO EF
(&, mood) &TlE FHE EHELICH

complete predicate

Kelly paused briefly.
Earlier, we had been skating there safely.
Soon they will gallop away.

| gave him the book.
The book was given by me.

| will wait here quietly.
Wait here quietly.
Only if he could wait here quietly.
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A man knotted 39 cherry stems with his tongue in three minutes.

Ul 7HX| 2|0|FS
£AHE H|Qlst 2tFst &0 22  knotted (EX) + stems (BX0])

A = man
39 — stems
cherry = stems
A2 B3 his = tongue
knotted + with his tongue,
three = minutes
knotted + in three minutes

with hs tongue
in three minutes

rad
Pall
>
11
40
glo

0%
u
4
P
40
glo

In Siberia, solid blocks of tea were used as money until the 19th century.

4| 7tX| 2J0|RS
A0 E H|QISH 2ATT 20 T8 were used (20])

In Siberia = used
solid — blocks
blocks + of tea
A2 RS used « as money
the — century
19th — century
used « until the 19th century

of tea
HX[A =2 as money
until the 19th century

= oo
HEIAX FS -
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George, in excellent physical condition, ran the fastest of all and won.

H| 7kX| o|o=3

* ran (20

A E H|Qst XSt =0 S « won (%)

0o

excellent = condition
physical = condition
George + in excellent physical conditional

A 2 RS
the — fastest
ran + fastest
fastest « of all
X% oo in excellent physical conditon
HEIAX FS ran the fastest of all + won (2t%8t 20 F32| HE LX)

The exposure to fine art allows a student to have an aesthetic experience.

| |

FESELEE

ZAI0E H|QIEH 2XEH =20 £ ¢ allows (E20{) + student (FX0]) + to have experience (& EH0])

= * have (£0{) + experience (FX01)

The = exposure
fine — art
exposure + to fine art

FH WA RS a —p> student
an — experience
aesthetic = experience

XM RS to fine art

HYAx 2 :
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Z ZAIZELICE O] I boldZ ZEE

=8 WE2| #xst 213

Researchers began something.

Researchers began to believe that runners are able.

Researchers began to believe that runners are able to adjust leg stiffness.
(A0 « to BFAIR)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike.
(F=A10] « TX[AR)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on

their perceptions.
(A0 « 2AH)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their
perceptions of the hardness or stiffness of the surface.
(F=A10] « TX[AR)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their
perceptions of the hardness or stiffness of the surface on which they are running.

(@410 )

Researchers gradually began to believe that runners are subconsciously able to adjust leg stiffness prior to
foot strike based on their perceptions of the hardness or stiffness of the surface on which they are running.

(=410f « EAp
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2t =0{(complete predicate)0|2t= 2|0|F22 FE EXNsts AL7L? U|! M2 EXeL(Ct ¥
HAZXO| HE M2 BE, ESAL| He = etFst 201 F32| M E BoiF= 526 ol L|C.

H 7HX 2824 & 012 AIEE SAQ| 2O|E JHYAF|= YAz 2 UWE0| Ay ELICh =07t H|
2, stA[2H SHO|LE 20| SO| ZetEl 2MEE SAte| QU|FSS 2iFst éoi(complete predicate)2t
1 XFeLt. SH0LE 20{9| Zof 0{F = SAS| AL #E2Z2 - =0 /JAX[TH FHE 3 AF0IM
Helet ool == H7t ASLICE H2tM, 288 side Me et 20 T332, sH=Z AME8E &S
Atel ool E 2tYsiths BFOIM A siMstn, 2017t H3H5H= SEOIL JEi2l FHIZM F0| YEHE
AT 20 LHE0| ZgdliF= 422 M S DF2[SHM L.

0 AN, BUARL B2 BARL UNE 20| 259 LA, 5, (RS AN 2E 20| 52
o) 201 e ASAIZA] BHEOJE] 200l ESAITRILICH Wty ZSAIPS) S Wuie eidlst a0f £
Sof 3 ol fet 3518 ELC,

exe 2xyasct £40fo] THOE 74 HLICH £A0{7H THE HFE ThAS 2FR20/02 240f
st FO|| IEA| BRRAS THofsts S20| B BHSO{MO} BLICT 2HHE £0{2ts olnjR 30 S
2o| Myst ol S sttt
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2t =20 FSO0I=t

rir
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Mo 2

1. &5t 20{(complete predicate)0l2t= Q|O|RS2 & EXist= AL U|! X2 EXHg
LICt HEAXo| HE Y2 =22, ESA2| Hel= 2Hs 20 £32| XS E0iF= 5280
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Spiders use a wide range of strategies to capture prey, including trapping it in sticky
webs, lassoing it with sticky bolas, and mimicking other insects to avoid detection.

[1] trapping, lassoing, mimicking (X)
[2] trapping it in sticky webs, lassoing it with sticky bolas, mimicking other insects to avoid
detection (O)

ol
ofr

o|0| £tel= HEO| £[0{of LICt SAts Hst 201 72 HEH= 2|0| Bel7F =1, J2HM FH 0t £=Al07HK| 235t &

A2l “trapping it in sticky webs” 2t “lassoing it with sticky bolas,” 22|11 “mimicking other insects to avoid
detection”0| EFZE O|FLIL}.

erEet 501 F22 202 AEE SAPLAQ| of0|E 2Hdstr| flsiA Zetalof she X0 22 Eoj= =0, =5
Joflet HE

o HHE AMolIF= +A0HK| 288t 20| F32lH|, SH0{LE Hoj2| et 0{F = SAt2| F2lof ﬁ"‘*5|01 9;1
AFEOM "*OF = ASLICH
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CHE S0 ZEE to RHAIL SHARLE HOtEAR.

glo
MO

Spiders use a wide range of strategies to capture prey, including trapping it in sticky webs,
lassoing it with sticky bolas, and mimicking other insects to avoid detection.

[1] to capture, trapping, lassoing, mimicking, to avoid (X)
[2] to capture prey, trapping it in sticky webs, lassoing it with sticky bolas, mimicking other
insects to avoid detection (O)

"to + SAL #Y"0[ to & *MEH'_ 21 RALIR7? to B Ofl to REAMRTH ZXHFLIC. fFE 0] T30l 1o E0|
|, §FE 201 45k 2012 SA FIYPQZ HHEH 0| HIZ to FYAMTULICH SYAE 20t £0] T30 205
~ing e = EIE 7*°'|-|Ef

to avoid detection2 mimicking= $£Alsts BAL 7|52 3otEE SHAR! mimicking other insectsOl| Z&HE!ILICE,
9 9

Mot7| 2lehM Z&tsHoF ot SE0 22 Hoje 28, 20, 550

Het 20 F22 =02 MEE SAUH AR o|n| & &
|, SH0ILE 20{Q] =t 0{R= SAS| Flo %USE|01 AL, S YEE

oF HOE #AoliIF= =2AI07kK] 2&tet Q|0|F3l,
APEOM 2ot o= ASLICH
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S 20|= A SMe| 20|E AP 7= WAooz ZF LIEO| &Y ELIT). =
- _
=

HojLt Hof S0| otz 2t El SAte| ojnjFES et

2. Ul 7Hx| 2E2A
C 2IFsl %W(complete

07t MelE, SHXIE,

oredicate)2ti XIFBILICH BHO|LE HOjo| E3 ol SAO| AR FHOZ 7 Hof Xlat
012 1 FHoIA X2l3 OlR0 E28 Wt YBLICE Wk, 22 sn»qg [HE olElst 20] 2

=, 2012 MEE SAe| J0|E 2tdettl= 2FolM X siMstal, 2017t Eist= SEo[Lt QEH
o| Frl=M 0] HEE 2Tst 20 0| ZeaiF= A22 i S OHFE[5HA

o

:
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=0| 32 L3t 22 2I0| HRIE Fdsts 72 F2YLCt. 22 SQefLt.

O{2{=0| 2Tt 20 732
= 2[0[0|04, to FHAL

+ 2E0f/=0] TES 9t £0f HEf Wz

AFSE &0 — | sEAr

50



=P o - |
=& 82| &y ™
22| LIO| &Y E|l= HEE HRE £[20 B= dAo2 E3 LIE & g E A HISL[CH AT
% =pN =] |:|.9;_||. TEA ||:|.
- O - [mm] [= =]

| eat an apple.

[1] "Lh= A E HEeLL = WES WHStE 2&E Adsta{ 1 giLth " ~& HEe = 2|0|§ Edlshs
=02 AIZE SAE HA MESMOF LT 20E MA MESH= O/ ZUTEILICH 0= AF2E SA
o| 2ojO|S 2Hdst= o= ZEO| LIBS st 20| Fojo| 28 UE =i LR017| tiE LT Z1ay
M IOl ZE SAE| ALE &, T SAt2] o|0[E 2td AlI7|=H 28 SH0LE Ho{o| £It 0{RE EF

TENFLD ASLICE Of 2= ARHOoM HotE = JUELICH

“eat" 0|2tz SAE AFESIAELIC 20| ZetE SAE &0 (predicate)Ol2td X|&5H=0|, Wl 7HX] &
24 (elements of sentence: F0{, 20, 5X0{, H0{) Z0|A 7tz 28t QAIL|CH S&0], Hof,
017} £0{2 ALSE A2 2O|E 2t A|7(7] fIsiAM ExHst?| WEALICE

eat

[2] £0{= AI2E SAt eat?| 2[0|7t 2MEE[2H eatOl2t= SEQ| CH0| 2ot &|0{0F LT O] HE =
AREO Fo| =|0f ASLICE.

eat

us¥) it/
past tense ate US /eit/ | past participle eaten US /'i-t°n/

eat verb [IIT] (HAVE FOOD)

+
i

to put food into the mouth, chew it, and swallow it:

*[T] HeEte a hamburger{for lunch.

eat an apple

[3] H3l= H&0] El= At2H(an apple)E F7I8HFACL] CHE2 20| 202 MEE SAt eatO] E3i5H=
o|o|7t (ArHof)) i E 2 2t & ASLICH.

eat an apple

k=l
Mo

2a}
10
HI
>
fjo

N

[4] o= A9 12 T8 AIFM 2012 AFRE AL “eat”2] 2/0[7F ECI0] 24 EY
27| SIPLICt,

| eat an apple.
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[1] 2#0{E HSLICL EAIE HIECZ SAIE &= A0| 7|2 WHULICE T, THo1e| EALE RECHH, AlA|

HHS7| QoM HAE e, ZSAIRE AR 02, =0 30| ]IXISH= =20{2] 9IX| HE SS HI1E =
E N0l ZSLICH 252 HO{Z 27| f spelling, 51t SPH EAL HEE HEA| Q7[SIEAL. J2|1 SAE 7|
= usage HEE "HIEA|” 8PH A7 |SIEMQ. 20t oilAf a&0f 7{Ctet 20| £|= FE7L|CH

| @at an apple.

[2] E012 AFSE SAZL XS] 20|E 2Hd5t7| flsllM Ftste |H0 =2 Ho{2| 5t 0125 Sl
Ct SAe| usageE QICHH F5X0| 2 HO 9 s e = A= HAS 2™ &1 ™
M0 E2 20| AgS Al = U= GACHYAL, BALE CHHALE A5 = 8A7t 28t £[0]
=71 SelsEM Q. #Ate| EXf KR = HAF EHEH| =20] ELC

| eatan apple.
[3] &M 20| SHMGHM|Q. 2IXE £0{= S0 =2 AE SAte| 2|0f7t 2HYE FSLICH &, SAS| 2
0|E gtdstits 2E0IAM sHASIMIR. Ol 22| “eat an apple”2 “AtHE HCH = 2|0|ILICH.

| eat an apple.

(4] 25 2012| ZH| B2 20{2| A HEE LM SAME A o|0jof X HRE FIIEH sAfo] of
022 “Li7}, B Lt= AL Bi=Ct v oj0|S Fetsia YL

| eatan apple.

[5] fl2f 3iA S ChA| & B X2 20 2EMQ. 2=, 0|2 = 282 "Y'= Y27t e 8=
HEste 282 BYULILE M2 202 AtEEl SAt| 2|0|E 2bdsth= YoM s~listHE EL|T}.

20| #1410/, OIS 44101 2047} HEsts LHBS 2437| oM AFBE 2FR40)
2 MHE obdLich 23e A7t He

CF 2% sfA10] S BHHO| A3HI7| FISHA “SAl0lE Rl

P ofl B Q4BHRINIR. 2RRA0) £A0{7} £t £l T2 4 2 Tiet ElolA
= 2A0{E ZEEILICL X2 $A0IS B Folstn 4

3
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0| Zetk|0] = +A0E A
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The boy blew out all the candles with one breath.

F0| +

IEet 201

Both of the girls have sung in the choir for years.

=0

701 + etxist

Her dazzling performance as Joan of Arc
rendered the audience speechless.

0] + 24

—

=0

9

After a lengthy campaign process, the students
elected Miguel.

F0 + 2t

&

=0

Maria taught her family’s dogs some clever tricks.

0| + AESt

=0

| found that kind of glue ineffective for building
model airplanes.
F0f + 2t

=0

9

o

SiA siENtR? 410 —% %3H

ESALE E 2 H(Qf 3
=07} MYt = O|D|E 2t
AXZ0| 2t

mun- mujo

-1 40
B oo

> ol

Jﬁi

Mot &£0{0]7| 2L

0
0f0 l_O rIr x
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o
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X

+Al01 E H e[k &t

blew candles (28
boy blew candles (2EH0| £E& ZiCh

have sung (\=2{E S2{CH
Both have sung (20| 2iE S2{2ICH

|:|I-X7'(|-

rendered audience speechless (3550 =X

22 HEQCH

performance rendered audience speechless (A

7|17} HEE0| YA} Rt E DHERICH

elected Miguel (Miguel2 M&E3HCH

students elected Miguel (&M4=0| Miguelg M&

P

taught dogs tricks (HollA| |FE 7tEXICH

Maria taught dogs tricks (MariaZ} ZHOoj|7| ;=&
7=

found kind ineffective (2
AHAE 2AICH

| found kind ineffective (L=
Ch= AMEE
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H

It was hard to measure just the right amount of flour, and the dough became sticky. (X)
It was hard to measure just the right amount of flour, and the dough became sticky. (O)

to AT E st 20 S22 &0 HEHE #HESH ZARILICE. measure amount2hs 2tFSH £0{0f| toS 0|11, measure2t
Al L,

gerund phrase

CHe 230 ZetE SYA| 2SS MEMR.

Mixing the dough was the first task that gave us trouble. (X)
Mixing the dough was the first task that gave us trouble. (O)

H

—

Bl

]
ol
o

HelLCt, 2H

L

rak

ol
0=
>
4
rir
o
A
o
>
2
3o
ojo
10
>
2
ogk

b £0] £22! mix the doughOilA £0{2l mixE mixing2 = et

participle phrase

CHE B0 ZeE 2A0] 2ES MEM L.

0jo
MO

| can almost see Grandmother wearing her dress with the roses. (X)
| can almost see Grandmother wearing her dress with the roses. (O)

SAE st 201 F32| 20 FEE Ha st AYLICE 2tXsH 20| T3l wear dressO|AM £0{Q! wearE weraing2 2 #Hat Al
DHSO{RSLICEH
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| want to see that film again.

Jane didn't have time to read my paper.

The football sitting near the goal-post is Ahmed'’s.

Moving their vehicles to the right, all of the drivers let the ambulance pass.

58



A
e

| eat an apple.

|

| want to eat an apple.

T 2 2E0llE F el 2PHE 20 F30| 28 £[0] QELICE. Sth= “eat an apple” 0|1, K
CHE StLt= “eat an apple”of 25 BHS0{Zl to EFAITE SO E 7HX|= “want to eat an

apple” &LICt.

T | 20N “eat an apple”2 &2 F0{Ql “I"E AjLle| o|OjY FOE ZRSI0] “"Li= At

WE H=0"E FEE want?| X2 HSstl JASLICL O|MEH ESAt= HHO{7H bSHOF &
24 2 £240{0] siLie| 20| MISE = = HE 22| HHE MSefLICt off 0218 &
Alo] st X|of 25t o|F 2 "EF 2| #x|st W oM 0| E2|== ShlELIC
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| want to see that film again.

Jane didn’t have time to read my paper.

The football sitting near the goal-post is
Ahmed’s.

Moving their vehicles to the right, all of the
drivers let the ambulance pass.

[1] want to see that film again
— | want to see that film again.

[2] to see that film again
— | see that film again.

[1] didn’t have time to read my paper
— Jane didn't have time to read my paper.

[2] to read my paper
— Jane read my paper.

[1] is Ahmed’s
— The football sitting near the goal post is
Ahmed’s.

[2] sitting near the goal-post
— The football sits near the goal-post.

[1] let the ambulance pass
— Moving their vehicles to the right, all of the
drivers let the ambulance pass.

[2] Moving their vehicles to the right
— All of the drivers move their vehicles to the

right.

[3] pass
— The ambulance passes.
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= 20], 350 22 20T boldZ XME|YSLICt. BoldZ X =&l 2HEst
HMESIH = e SAte| QOIS eelsiEN .

Mending and restoring objects often require even more creativity than original
production. The preindustrial blacksmith made things to order for people in his immediate
community; customizing the product, modifying or transforming it according to the user,
was routine. Customers would bring things back if something went wrong; repair was thus
an extension of fabrication. With industrialization and eventually with mass production,
making things became the province of machine tenders with limited knowledge. But repair
continued [to require a larger grasp of design and materials], an understanding of the whole
and a comprehension of the designer’s intentions. “Manufacturers all work by machinery or by
vast subdivision of labour and not, so to speak, by hand,” an 1896 Manual of Mending and
Repairing explained. “But all repairing must be done by hand. We can make every detail of a
watch or of a gun by machinery, but the machine cannot mend it when broken, much less a

clock or a pistol!”
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Mending and restoring objects require creativity
blacksmith made things
; customizing product, modifying or transforming it )
was routine. Customers would bring things if something went wrong; repair was
extension ) ,
making things became province . But repair
continued [to require grasp 1
. "Manufacturers = work
S Manual
explained. ” repairing must be done . We can make detail

, but machine cannot mend it when broken,

Ill
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gray-out®l $A01E FOFM H|WSHEAM|L. gray-out E 410 25 BEEQAE £416101 EHR
A7t MESh= UES #HIsh sl UELICEH =40 E
£ miolsHA| XotH 2&0| MEst=E #AHel LigQ| siM2 S7tssiEL .

Mending and restoring objects require creativity
blacksmith made things
; customizing product, modifying or transforming it )
was routine. Customers would bring things if something went wrong; repair was
extension . ,
making things became province . But repair
continued [to require grasp 1,
. "Manufacturers = work
S Manual
explained. ” repairing must be done . We can make detail
, but machine cannot mend it when broken,

Mending and restoring objects often require even more creativity than original
production. The preindustrial blacksmith made things to order for people in his immediate
community; customizing the product, modifying or transforming it according to the user,
was routine. Customers would bring things back if something went wrong; repair was thus
an extension of fabrication. With industrialization and eventually with mass production,
making things became the province of machine tenders with limited knowledge. But repair
continued [to require a larger grasp of design and materials], an understanding of the whole
and a comprehension of the designer’s intentions. “Manufacturers all work by machinery or by
vast subdivision of labour and not, so to speak, by hand,” an 1896 Manual of Mending and
Repairing explained. “But all repairing must be done by hand. We can make every detail of a
watch or of a gun by machinery, but the machine cannot mend it when broken, much less a

III

clock or a pistol
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Researchers began something.

Researchers began to believe that runners are able. (25242 Al2E Z5A17 L H)
Researchers began to believe that runners are able to adjust leg stiffness. ($+A0Z ALZE E2SA)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike. (A0{2 AIZE
HXIAL)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on
their perceptions. (40|12 AI8E ESAH)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their

perceptions of the hardness or stiffness of the surface. (A2 AL El HX|ALR)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their

perceptions of the hardness or stiffness of the surface on which they are running. (+=4I0{2 A& H)

Researchers gradually began to believe that runners are subconsciously able to adjust leg stiffness prior to

foot strike based on their perceptions of the hardness or stiffness of the surface on which they are running.

et 20| |3, o4 2 T2, WRMF T3 L GBFZ 732/ S Olsllsts A2 THX| AZof| St
Crket XIZof =etel CHet 22 M2 siAsiLZ| 2IsiA OIS 20|FSS 8 o2{E 8l0] mttshLi®, LHES
2 =g o AS 22 ASSM0F giLth O 2 8H0[H, Lot eitHo= "ﬂ-f-?-%HJ‘IEE S0 F= °1
& YO HEA| ZetL|Ct AlZtaF 29| HHIE £0|7| ?lailM = 2ol

66



e ey
110

0,
il

O

0"
KO

<0
=
110

3. SAlusage

I
ot

110

LHr



SAt usage

Al He|

a0 o

_|O|l

28 5 g4]"0|2t= 0= 07t "SAL 2] o] et 28 AHE S ZHHELICE T2 2 0|§—
o g0 2 SS0M SAIE CHRE Yot 2 E 2= =Y FP'EI% M5 JSst ekl M ofahisHA BHS
2 OfL[El, 2 MAZE AF0 7t 2 S L3l s I7EK] giLch 2ol Tl 7 #
LICE Foi7F 8t SAQ| 20| E 2ty st Y40 CHA Z7HX[0]7| M2 YLICE. SAt Saiel Fo sta2
=t oMol 2RSS HSHA siELIC.

]
2
M
o S
g
L]
ne

oj=2 2R AE motsh=r| EIHT &5t A8 El= elEO7|= gLiCh J3H|, s0E SHe=2 1 H
o] 9x|of| Z=0{7} =0|= 0|27} =oi 7}}07 FO7} 20 FILT 20 2 20 FHol| QX[GIEE F&IS ol
SX| E2 0|fe= FALNQ?

Folgl o|nf7t 2t E Q|0|E Eoots SAIS0| 0 2500 ZHELILE. ti2tA, SHOLE 2H0E 275K

; T1 71
FaLict

HEIE EBI5H7| WEo XAl dE EE MIsh= 20{(complement, complimentZt OFELEH)2t
o7 2tdsh 201 32 UEE SAHS0| 0] 2 F0) =8 ELot.

. SHE BEI5H| WE0f| SE2| Ciael SX0{(object)2t BIH 2HHEH £0{ F22 UEE= SAIS0| 0| OF
=

. SHZ T5iol7| R0 SEC| CHARl EX0{(object)2t & 2TSt &0 T2 PtEE= SAHEO0| 0| 28
o Z=& ELICH & 74| §H0{(indirect object®t direct object)E 7&LICH

. SHE TS| WE0| SE| tiael SX0(object)2t &Ml 2HEEH £0| R3S HE=O|, SX 09| Al
£ THet sl = 20 8 275H= SAISO0| 0] IF0H| 2ot ElL|TH AL FEAtet Z2 HO{7F 202
A8 E|ALL, ‘14%4—'?'— AL, to BEAIT 2 AT E2 ESAFILAME BV R 5HEE, -‘E"*Eoii Af
8kl= A5 FR0| F=5H0F & 2t OtL|2, SA0{2 X 0] Ato[of 2|nj& F0{ef &0 2|7} AT
= 3k g0 ':HIO

O

. o7t SAF SH9f 210fo|11, T sMof| 2Fs 20| F30| Xi2|st Art= AreS A O3 OF BiL|Ct.
T2 22| 8 =7 EReSHA| =20[7] AlRELCE.
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23k OtL|2t, 2 MAIZ A0 7= 2ES Edll 5t|7HK| giulct 282l B 7t
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F2o| Ho|(definition)2 ¢t H S0iCt E7tRL? =2|HoZ 2tM
Ct. LE2|7t =Fal{oF & A2 F 71X S=LICE (1) 2
of wordsE O{€#| O|slisi{Of st=7}7?

—

(1)2] &2 olo] 2tdst =0 /3 F=0|A 2 HE AX|2, “SAt usage e HE["O|ME A 20HoF & LIS
L|C}.

(2)2] B2 "SAt usage =l Fe|” OFX[ B20|A dZsi=2 7[=]E ZASLIC.

what?
how?

O, O

1) a set of words that is complete in itself, :

2) typically containing a subject and predicate, conveying a statement,
question, exclamation, or command, and consisting of a main clause

and sometimes one or more subordinate clauses.

[Oxford Dictionary]
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HOX|[AL} 2 E= s "sE
o AER HEZ E SHERLICH
SAE "S- el 8 Bas
=0, 2t MEfel o|olE 2tdsty|
LlaiM SEe| tie(5E0], object)
2 HEfe] Al HH(H,
complement)E F7liFE A=
SAt2| 2|o|E 2tdstH =|ZUCHD 24
ZHIEHE

1 AN - .

®

EY0|M SAte| 20| E etMsH=0|
AE £l BRES 28
(elements of sentence)2tl #&
SLICLH s0l= 28 U8 7142 A
EHOIX 71 528t WHE HMSot
= SMEAMY)E X[Est= 40|
1, oL} HOj= S0{2 AMEE &
Ate| 2|0|E 2td3st7| f{siA AP
Sz 02| #FE|0 SAZH E#isk=
olojof| m2tM F£7} £[= AQLICE
Fol= =019 FH|, & =0{7t EHS|
= SHO|Lt AEje| F=HIE 2|07
C}.

Verb

action or state

puEEEy
.* Say

v defined!

complete predicate

®

SAOICH SHO{LE HO{Q| F7t 048

E Z% AYoEUSLICE SALALE
WHS S2M S0f7ALE, ZR AtEsH
communicationOfl X7} 47|X| ¢t
EE Z0|%. .

S+P O/C

elements of sentence

Y HEHS 2ARX| 1, SAL]
usage, &, SAZt E&ist= 2|0|0O}
Ot "ol =|0f Y= FHO{LE Hojol &
7t 0{2E 27|5HOF BiLICE Z12Hof
speakingdt writingO| ZOEIEL]
Ct.
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JH "o 0l2ts AL A5 SIAXIXQ? RE|LEe| BE AN 2715t A= 2 5 @40
ct= A MEQLCH
B2 HE0{X|= 2 40| &g WA
SAte| & SAtel o|0] 2ty g4 (UE 2l RES WS 20| R3S o= B
QA
Type | £0|= AIZE w] FHofLt HO0f 210/ o|0|7} 2HE|= SAt S+P
=02 A 22 o "HEl"E PHE siFE F7F YEHE 275t
Type Il £ SAL JEIE FXet ote EE AL At B S+P+C
(complement)7t M=
s 1 " — = =L -
S0{Z A2 E 1} B3| T4t 5t HE 2ot SAL St
Type I T TE = S+P+0
CHAO| §X0f(object)
Type IV 02 ABE Ml "SE"2| Y F 7HE Q75t= SA S+P+10+DO
Type V =02 A 82 mf “SEro| theut S e HEiS Xt

=H0] 22 H0{E @75h= X[2| 0ff= o|o| ot Ho| =|of @ Efﬂ A Bt AFLICH H|!
Z L0 SAPE =02 AMEE H SH0/E0et =8 E|0{0F 5t X|2| 0{8E 85t
7tx] SFe| gEst 20| {3 EFRO| ACH= O[OF7|YLILY).

AL 285 “SX=H(action)" 2t “MEl(state)” 2|0 QWOPE‘IE“ T MK Q40 Heet 4= =, "SE”
o| CHaH(FE0], object)t “&Ei” HEHE 2HdaliFE= FAAQl HHEH(HO, complement)o'u':f E3 SA7L

A H

SiFE HOIS 275t SA} S+P+0+0C
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HOjLt 20 10| SAL AtH|Zt2 2 o|0f7t 2EMEX|=

SATRILICE F= AtEfS0| O AoL| OS2 F2]0f wEtokX|

come, appear, arrive, emerge, arise, happen, occur
be, exist, live, sit, stand, lie, walk, run, jump, rest, breathe, sleep
go, disappear, leave, die, end

sell (E2|Ch
cut (E2|Ch
lock (&7|Ch
bend (=35]|CH
dye (ZAME[CH
wash (7|

peel (UE S0| BIAX|C

agree on/to/with
amount to
apologize for
apply for

ask for
believe in
belong to
care for
concentrate on
consist of
contribute to
deal with
depend on
differ from
object to
insist on

pay for

result in
succeed in
suffer from
participate in
listen to

AZEHZ SIM Bl SAISE YA Q7| E SHL|Ct Q) 90|72t JZA &
20| 551t 52 mE = ¢lo] 13 oj0|Z MoICtD Q@M = AEYLICE |
o ZAMO|M 55/452 MX|A &= Z40|X|, P2 AIZHEL| 2 S OFL|L|7IR. This

book sells very well.2 ' 20| & &2ICt= 2|0|F HHe LT}

golEl Ao|EZ,

SHO0E Q5= SAIRE X0[7] HZ0| EUAZE & U= SAIJLICE 2[0|7F Het
K™ A5 AME SAE EEELILE CHE 2|0|E ZE2ist| ?Igt #=& 2H=0{0F SHL|7t

Q. 20N 7st= YEliLt = 20| HEBISH| fleiM EXSt= ZOIX], FE{LE 7
ZE flsiM 2lofzt Zxtsh= 20| OtL|Ek= AMeE Zi= UK OHM L.

phrasal verbS2LICH. SAZF XAt A =0 ASLICH EX S£2 T nf &hat
XM XA O EE “E XA QF S| A0ICt= o|O|IL|Ct O] $ A2 collocation
Ol2tx X|ZIEHL|Ct ofof ZeiME M2 A & 7|5 MHEZELICE

=2 =2 A-

O SAHE2 HE —E—’é*ﬂ o| == QlO| 222 2HYE o|0|E HAefLICt JH §8 ™
RIAZL Ol = TX[ANLLE et BH| SEILICH 2-CHHE XA 7 "HEslor & 715
= SHOLT 20{7t E.*%*OEE St Z|X| SASMR? 1 0|/ E & HZ3HEH P02
S YAlnh 2ESH0] OFF THOIRU=E AMS EHE 4 AR, 0222 TS 20k A0
of2 ORLIX[R? EF TRt Zelsto] 23shs QOIS ’é-* 7|93l AFEE 5 Q2
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Hojo| =ZS OIof Atile] ofn| S @hY AlZ 4= U= SAISYILILE ofet, Zet &= =207 F8AL0|0{0f 3tit=

Hol| FFtM2.

A HOIE 7Ixl= SM

» "be"” group - indiating that someone or something has a particular quality oris in a
particular state - die, glow, look, stand, prove, stay

Poe dies penniless.

Mother's cheeks glowed red.

She looked happy.

| stood perfectly still.

The project proved successful.

Parallel computing ranks high on the research agenda.

e "become” group - fall, become, end up, turn

If your boss is opposed to your idea your task becomes more difficult.
People who have tried that in the past have ended up dead.

She fell silent suddenly.

David’s face turned white.

e “seem” group - appear, seem, taste, feel, smell, look, sound

He felt ridiculous.
The Government seems unable to take control of the situation.
In principle, it sounds great.

e "act” group - act, play
Claire decided not to act surprised at the mention of Walker's name.
« “die” group - die, arrive, emerge, return, grow up

My father died young.
What does it mean to grow up poor in this rich society?
None of them returned alive.

e etc - lie, sit, stand, break, close

Behind him a man was lying dead.

Her Bronco still sits unused in teh garage.

He put the phone down and Jessica stood motionless.

The more | struggled to break free, the more | became entangled.
Stocks closed lower on Wall Street today.
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EYO0IM 20{e| =Z= RIOIOF X2| 2|0|S 2t Al
Alet @AF = Ot 7HsSICh=E Foil F=3H0F ®iLCt.

SHEAQ WAL BEE HOE JX|= SAb

o
become, remain
The weather became awful.

Betty wants to become a lawyer.

The lake remained calm.
Bill hoped to remain an architect.
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HO|E 7Ix|= SAIZ E8E 20 olLIEL, SHO|E 7Ix|= AR #80] £|= SA

feel
smell
grow
sound
prove
taste

P+ C(d&8Ah P+O
She feels happy. She feels the fabric.
The cake smelled burned. Bllled smelled the flowers.
It grows dark. They grow tropical plants.
The music sounds loud. He sounds the alarm.
It proved wrong. She proved the theory.
The soup tastes salty. Mom tastes the soup.
ZH0|E 7| = SAZ E8E Eu otL|Z}, 5X0{/EH0|E 2F 2F5H] = SAIZ &

80| &|l= SAt

P+O P
He ran the new machinery. He ran around the track.
She flew her own plane. She flew there on a plane.
| want to drive your new car. | want to drive to Denver.
Carmen lays the books on the table. The books lie next to the computer.
We set the vase on the piano. The little boy sits under the table.

HOIS 7HX|= SAMZE &E8E ¥ut oL}, H0|E 2751X| pi= SAZE &#80| k= SA

The man died after a long illness.

The guests will arrive at 8 pm.

My sister has come home for the holidays.

They excitedly hurried up the steps.

Someday we will journey to Mars.

The woman had swum across the English Channel.
Tom always sleeps so late.
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HARYAFE SHOZ 7] = SASYLIL. &7Isl=E 71XI7F S23] ASLICH

* ‘come’ and ‘go’ group

Why don't you come see me any more?
What | did was reach for my bathrobe and go open my front door.

 ‘dare’ and 'need’ group

Tom did not dare approach the great man.
No one needs starve in the world.

¢ 'help’ group

A fever isn't always cause for concern and you can do a number of things to help
reduce it.

to FHAITE SE0|= 7HX|= SASYLICH

P + O (to B™AIL)

hope forget
try attempt
remember manage
seem arrange
want agree
appear promise
pretend learn
prepare refuse
fail continue
begin intend
hesitate plan
neglect offer
prefer decide
start

They begin to understand his problem.
| hope to visit Europe someday.
THe men planned to work on the old car.
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that 22 SX0|= 7tX|= SAISYILILE 0|0] 0{2{=20] A=3XoF & SAISS M tee=z 7[5
QUEMMOZ EAISHERSLICH.

P+ O (that ®

 ‘say’ group - advise, advocate, argue, caution, command, conclude, confess,
declare, demand, indicate, insist, proclaim, promise, propose, remark, report,
request, contend, acknowledge, admit, deny, grant, pretend, regret, lament, reveal,
signal, speculate, state, instruct, profess, protest

The president boasted that it would be the biggest service program in American
history.

She claims that she paid no money for it.

Many passengers complained that once they emerged from the train, there were no
emergency personnel to greet them.

| explained that you were upset and wanted to be alone.

The article points out that trade with the Britan’s European partners has risen
considerably since 1973.

He predicted that the terms would be rejected and the war would continue.

We all felt hungry, so | suggested that we stop for an early lunch.

Mr. Lightman wrote that there had been a number of misapplications of funds and
breaches of duty.

 'add’ group - answer, confirm, object, reply, verify, dispute, agree, disagree, respond,
reaffirm

He said the air campaign will continue and might intensify, but he added that other
forces will probably be brought in to supplement the air campaign.
| said - ‘What a lovely morning,” and he replied that it would be very hot later.

¢ 'scream’ group - cry, exclaim, murmur, shout, yell

Francis murmured that he would do anything he could and left the room.
She screamed that they'd killed her sons.

* 'think’ group - consider, decide, determine, doubt, dream, estimate, feel, figure,
guess, hope, hypothesize, know, intend, presume, realize, reason, suspect, theorize,
understand, wish, wonder, worry

He was fantastically short of money, so everyone just assumed he sold the pictures.
The students fear that the government does not intend to fulfill this demand.

It was a calculated risk. They probably reasoned that without proof the fuss would die
down.

 'show’ group - show, imply, demonstrate, denote, illustrate, imply, underscore,
underline

The large size implies that the gaps were created by a star rather than a planet.
An argument with a friend or relative doesn’t mean that you don’t get on with anyone.

e ‘arrange’ group - causing somthing to happen - arrange, ensure, guarantee, mean,
fix, provide

He had arranged that all calls from there would be charged to the police.
They are anxious to ensure that emergency assistance is efficiently distributed.
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E35| FH0E ALEE that B 2t0l|A shouldE AR Sh= subjunctive moodE E8ist= SAISO| F
=otMIL. that B 29| shouldi= WEFE|0 AL E7| & 4= 7| R0l ARIZt 2| £[0] HO|= A

9| s[gtsh HElo| 2&E ThsLIC

—— O

e

P + O (that clause)
e ‘go’ group - quoting something - go, say

The story goes that the dish was invented by Kaiser Franz-Joseph'’s cook, who had
promised to make his master something delicious to tempt his jaded appetite.
The map says there’s six of them.

¢ shoud or subjunctive in that-clause to imply statements or requests that something
should be done - advise, advocate, agree, ask, beg, command, demand, decree,
direct, insist, instruct, intend, order, plead, prefer, propose, recommend, request,
require, rule, specify, stipulate, urge, suggest

The government has ordered that people should not gather in groups of more than
two on the streets.

| propose that we examine two basic trends, moving in opposite directions.

| suggested that we taper off the counseling sessions.
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S H9] SHUE 7HX|E SAEYLICH ZFE=SX0{(Indirect Object)E HXATRZ BHENHM ZES
T 0{(Direct Object)2t R—TLOFE HEiZ S o= ASLICE 2oL} SHOE 7HXIX| b= SAF SO
phrasal verbZt AAZE? SHHE 71E! HEHOIM phrasal verbME BIEA| £F MX|At2et 2R
Of stCh= Ao 2 ofalstH =|ZiH|2.

P+10 + DO

give

tell promise

show offer

teach ask

send buy

pay cook

bring make

He gave me an apple. He gave an apple to me.

He cooked me an apple pie. He cooked an apple pie for me.
She asked me a question. She asked a question of me.
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SH0et SHENE THK|=

P+ O + C (to £HAI)

advise
allow
convince
remind
encourage
appoint

We never allowed him to use our car.

Ms. Garcia teaches the children to read.
No one told me to wash the dishes.
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force
hire
teach
invite
permit
tell
order
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what?

1) a set of words that is complete in itself, :

2) typically containing a subject and predicate, conveying a statement,
question, exclamation, or command, and consisting of a main clause

and sometimes one or more subordinate clauses.

[Oxford Dictionary]

0222 Jof 5H et Y2 F 7HK] ZHO|M 2K o= O|FO{AMOF LTt

(1) Ci&et SAte| &
(2) Ul 7tX| e|n|&=&

l_00t0
0
or

91



—
L

22 5

—

ol

HA'I_ll. =35 H7|- Ol-El L

72l oiE

xH
=k

10k
El



Hl S& 22| Holx H|W - 7IEX[= AEI0|E, 7I2EE = A—~O0lE, X 20| ELt 22 X[22] &0

ZCh= O[OF7|E X1 ELICH X2 ol 22 X|E £F9| Bt 2= FALt?

X|20| ofECt L= R MM Ol - X|Z0f| FHYA} E0| ZSHE(0] QoM 29| LEO| ofoi5iTt =
711, 32 X|Z20] o{ZCtl EHEFeL|CE

X|20] Lt Lal= F WM 0] - X|20i|M CHRD = L0 2het BZEXIAS 7kX| 2 UK §4Ch=

—

dzto| SUE W 0222 IFEL, dZHS Y0 HELICE OfL| =2 &0 El= XK= Z2ZSLIC.

XI20] oLt Lal= Ml M O] - =F0| =2 22 #HHez B2 YHEE HSst= 2LIC. 28
CHEL| X220 Zetel E8S0| O 32 EE MSHOok gLt a2iM 2F2| L Z
O{ZIL|C}. O[ZA 2ET WE F=E mhefstA| RotH X201 ZeEl 22

=(l)|__l
1
=2
2
I
HO
fjo
u
S
[

HE7} BOotM FAIF0|H 20| Z0{X[1,

ozl
LHE F&=7t S HELICH 20IRSS M= DhofstX| Z5HH siM =Xt £ X| QEELIT. siA =X} 2| K] 8
OL| X|Z0f| thgr Sall ofs{YELICH 2 TS A7|SITte si2E 2X7F o2 oFgL|Ct Ul 7Hx] 2|

93



94

CH= OlOF7|E At
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Second, Matisse’s painting has many details. In Matisse’s painting, there are only
Icarus and some stars. Furthermore, Icarus’ body has just a simple outline. In contrast,
Chagall painted many people and houses in addition to Icarus. This difference comes from

the different painting styles of the two painters.

Jutor watA SolA X[20| HELhs Fof 2 untMe| Z¢h SHLHE ST E7I27 LHE O[3l 02 ES =7LR?
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As you can see, creative thinking has the power to make many positive changes to
the environment. By giving old products more value, we can lessen the amount of waste in
a way that is even more eco-friendly than recycling. So what would you say to Jamie now
as he decides what to do with his cans? Perhaps he could epicycle them to make lanterns,
toys, or sculptures for his friends and family. The options are endless, and all he needs is a
little creativity to think of them. In the same way, stop and think before you throw
something out. Who knows? Maybe you can turn that trash into treasure.
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=5 G0 X|Z2| HO|=Z OfM0f| AFer F 7HA| =2t H|usiE &, X|Z0] HFECh= =7240| ELIQ?

Precision and determinacy are a necessary requirement for all meaningful scientific
debate, and progress in the sciences is, to a large extent, the ongoing process of achieving
ever greater precision. But historical representation puts a premium on a proliferation of
representations, hence not on the refinement of one representation but on the production of
an ever more varied set of representations. Historical insight is not a matter of continuous
“narrowing down” of previous options, not of an approximation of the truth, but, on the
contrary, is an “explosion” of possible points of view. It therefore aims at the unmasking of
previous illusions of determinacy and precision by the production of new and alternative
representations, rather than at achieving truth by a careful analysis of what was right and
wrong in those previous representations. And from this perspective, the development of
historical insight may indeed be regarded by the outsider as a process of creating ever more
confusion, a continuous questioning of , rather than, as in the
sciences an ever greater approximation to the truth.
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SAT Reading Passage0l| Z&tEl paragraph

The nineteenth-century moralist's view on deception was that in general any violation, no
matter how small, of the dictates of one’s conscience was dangerous. The small lie makes room
for the bigger one, which makes room for theft, which makes room for robbery, which makes
room for murder. The rapid descent down the slippery slope starts with a minor infraction. The
model may be flawed-I know chronic liars who, as far as | know, show no inclination toward
progressing to murder-but certainly the impulse to deceive in order to succeed can become as
much a habit as suspiciousness or greed, and once it has become routine, conscience is no
longer an issue. Lying can become habitual in dealing with others while the moral sense in
charge of hindering it atrophies. The loss of conscience is probably not mourned by anyone
who functions without it, but those who have lost the faculty to tell that it is wrong to harm
others, or that deception is one form of harm, have been deprived of a humanizing feature and
have suffered an impoverishment of their moral life.
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Scientists use paradigms rather than believing them. The use of a paradigm
in research typically addresses related problems by employing shared concepts, symbolic
expressions, experimental and mathematical tools and procedures, and even some of the
same theoretical statements. Scientists need only understand how to use these various
elements in ways that others would accept. These elements of shared practice thus need
not presuppose any comparable unity in scientists’ beliefs about what they are doing
when they use them. Indeed, one role of a paradigm is to enable scientists to work
successfully without having to provide a detailed account of what they are doing or what
they believe about it. Thomas Kuhn noted that scientists “can agree in their identification
of a paradigm without agreeing on, or even attempting to produce, a full interpretation
or rationalization of it. Lack of a standard interpretation or of an agreed reduction to
rules will not prevent a paradigm from guiding research.”
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Scientists use paradigms rather than believing them.

The use of a paradigm in research typically addresses related problems by employing
shared concepts, symbolic expressions, experimental and mathematical tools and

procedures, and even some of the same theoretical statements.
[paradigm®| 74 24 + “shared”?t “same”2 0| 2% O|F0|M X3t &= LIES E0{F= iy 7|9 E]

Scientists need only understand how to use these various elements in ways that others

would accept.
[2SFXFE0| paradigmE &3 AHSSICH

These elements of shared practice thus need not presuppose any comparable unity in

scientists’ beliefs about what they are doing when they use them.
[shared practice®| ZHE 2} IS Yo =2 ALEs5t7| LhR0]| 2ASIXIE 7to] HFL|AHO|Mo| He|gtg F]

Indeed, one role of a paradigm is to enable scientists to work successfully without having
to provide a detailed account of what they are doing or what they believe about it.
[XI2O|N F&5l2{E= paradigm?| 7|15 2 paradigm A2 A §t 71X|& A E HE| - S5 7[8t {0l At
8517 ol WOl FHH o2 2310|1, 80{Q| o|0|7 RARIX| S FHE| FX2| MY LRI} i8]

Thomas Kuhn noted that scientists “can agree in their identification of a paradigm
without agreeing on, or even attempting to produce, a full interpretation or
rationalization of it.

[Kuhn2| FEE 21&3tHAM 2£20(|7} FE5IE{ 1 5h= UWES FA|3E 22 paradigmil £35h= concepts, symbolic
expression, experimental and mathematical tools and procedures, and even some of the same theoretical
statementsE AFESIEZE. KuhnS 21&8. SREl paradigm ALE2| Z7H0l| Chst 19| Mzt ZTH

Lack of a standard interpretation or of an agreed reduction to rules will not prevent a

paradigm from guiding research.”
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Heidegger used the term Dasein — “being there” — for the being that exists. He
rejected the idea that there is an external world separate from a conscious observer.
Instead, he developed a phenomenological view, in which our understanding of things is
always in relation to ourselves. For example, if you put on a jumper, it is because the
jumper will keep you warm, or you think it will look good on you. It is not because the
jumper is made of twisted yarn and is a few millimeters thick. This applies to knowledge,
too. We might read a book about politics because it interests us, or because
understanding politics helps us make sense of what we see happening around us. We see
it in terms of a tool, or satisfying a need. Heidegger saw the Dasein (principally the human
"being”) as completely immersed in and part of the world that defines it. No separation
between consciousness and environment is possible. “Being there” means that “there” —
our context — is the defining aspect of “being”. We are not shut off from the world in an
enclosed mind — which Heidegger calls the “cabinet of consciousness”.
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Heidegger used the term Dasein — “being there” — for the being that
exists. He rejected the idea that . Instead, he
developed a phenomenological view, in which our understanding of
things is always in relation to ourselves. For example, if you put on a

jumper, it is because the jumper will keep you warm, or you think it will
look good on you. It is not because the jumper is made of twisted yarn and
is a few millimeters thick.

[OlI7kX] E0{7}HM Heidegger2| Dasein 7H'E2| 34
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This applies to knowledge, too. \We might read a book about politics
because it interests us, or because understanding politics helps us make
sense of what we see happening around us. We see it in terms of a tool, or
satisfying a need.
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Heidegger saw the Dasein (principally the human “being”) as
completely immersed in and part of the world that defines it. No
separation between consciousness and environment is possible. “Being
there” means that “there” — our context — is the defining aspect of
“being”. We are not shut off from the world in an enclosed mind —
which Heidegger calls the “cabinet of consciousness”.
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Heidegger used the term Dasein — "being there” — for the being that exists. He
rejected the idea that there is an external world separate from a conscious observer.
Instead, he developed a phenomenological view, in which our understanding of things is
always in relation to ourselves. For example, if you put on a jumper, it is because the
jumper will keep you warm, or you think it will look good on you. It is not because the
jumper is made of twisted yarn and is a few millimeters thick. This applies to knowledge,
too. We might read a book about politics because it interests us, or because
understanding politics helps us make sense of what we see happening around us. We see
it in terms of a tool, or satisfying a need. Heidegger saw the Dasein (principally the human
“being”) as completely immersed in and part of the world that defines it. No separation
between consciousness and environment is possible. “Being there” means that “there” —
our context — is the defining aspect of “being”. We are not shut off from the world in an
enclosed mind — which Heidegger calls the “cabinet of consciousness”.
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As you can see, creative thinking has the power to make many positive changes to the
environment. By giving old products more value, we can lessen the amount of waste in a
way that is even more eco-friendly than recycling. So what would you say to Jamie now as
he decides what to do with his cans? Perhaps he could epicycle them to make lanterns,
toys, or sculptures for his friends and family. The options are endless, and all he needs is a
little creativity to think of them. In the same way, stop and think before you throw something
out. Who knows? Maybe you can turn that trash into treasure.

LAxs=e 2EO| LI TXE BEMGE7}97?

o|n|F32 ER B SUE0 £23| 7|05t= 2jo|F32l of

what to do with his cans (ESAIE, 2X0])

BAE say + as he decides what to do with his cans

say + to Jamie
do + with his cans
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Precision and determinacy are a necessary requirement for all meaningful scientific

debate, and progress in the sciences is, to a large extent, the ongoing process of achieving
ever greater precision. But historical representation puts a premium on a proliferation of
representations, hence not on the refinement of one representation but on the production of
an ever more varied set of representations. Historical insight is not a matter of continuous
“narrowing down” of previous options, not of an approximation of the truth, but, on the
contrary, is an “explosion” of possible points of view. It therefore aims at the unmasking of
previous illusions of determinacy and precision by the production of new and alternative
representations, rather than at achieving truth by a careful analysis of what was right and
wrong in those previous representations. And from this perspective, the development of
historical insight may indeed be regarded by the outsider as a process of creating ever

more confusion, a continuous questioning of

, rather than, as in

the sciences an ever greater approximation to the truth.
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process + a continuous questioning of
(appositive)

from his perspective = regarded
development « of historical insight
regarded + by the outsider

regarded « as a process

process + of creating every more confusion
questioning « of

regarded + in the sciences
regarded +as an ever greater approximation
approximation « to the truth

as a process of creating ever more questioning (rather than)
as in the sciences an ever greater approximation to the truth
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SAT Reading Passage0i| Z&tEl paragraph

The nineteenth-century moralist's view on deception was that in general any violation, no matter
how small, of the dictates of one’s conscience was dangerous. The small lie makes room for the
bigger one, which makes room for theft, which makes room for robbery, which makes room for
murder. The rapid descent down the slippery slope starts with a minor infraction. The model may
be flawed-I know chronic liars who, as far as | know, show no inclination toward progressing to
murder-but certainly the impulse to deceive in order to succeed can become as much a habit as
suspiciousness or greed, and once it has become routine, conscience is no longer an issue. Lying
can become habitual in dealing with others while the moral sense in charge of hindering it
atrophies. The loss of conscience is probably not mourned by anyone who functions without it,
but those who have lost the faculty to tell that it is wrong to harm others, or that deception is
one form of harm, have been deprived of a humanizing feature and have suffered an
impoverishment of their moral life.
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(to tell) that it is wrong to harm others (B, SX01)

(to tell) that deception is one form of harm (&, S&01)

to harm others (ESAIE, F0q)
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faculty « to tell that it is wrong to harm others, or that deception is one form of harm
anyone + who functions without it

those + who have lost the faculty to tell that it is wrong to harm others, or that
deception is one form of harm

loss + of conscience
mourned + by anyone
HE|AID 22 functions « without it
form « of harm
deprived « of a humanizing feature

impoverishment « of their moral life
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mourned by anyone who ... but (mourned by) those who ... [410]

(to tell) that it is wrong to harm others (or to tell) that deception is one form of harm
[2EQA]

T—oin

(those who) have lost the faculty to tell that it is wrong to harm others, or that
deception is one form of harm, (those who) have been deprived of a humanizing
feature and (those who) have suffered an impoverishment their moral life [&t&5t &0
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(to tell) that it is wrong to harm others (&, S&0])

(to tell) that deception is one form of harm (&, =&0{)
to harm others (ESA, F01)

faculty « to tell that it is wrong to harm others, or that deception is one form of harm
anyone + who functions without it

those « who have lost the faculty to tell that it is wrong to harm others, or that
deception is one form of harm

loss « of conscience

mourned + by anyone

functions « without it

form « of harm

deprived « of a humanizing feature
impoverishment « of their moral life

mourned by anyone who ... but (mourned by) those who ... [4]04]

(to tell) that it is wrong to harm others (or to tell) that deception is one form of harm
Oxto A

oL

(those who) have lost the faculty to tell that it is wrong to harm others, or that
deception is one form of harm, (those who) have been deprived of a humanizing

feature and (those who) have suffered an impoverishment their moral life [2%5t =04
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“Researchers began something.” 0[2t= 7HErSH 289 LIE2 CHE31F 20| -_rlxﬂﬂf

g &= ASLICE A3 E 22 2 LE Fxet A3t E|7| ojHe| 28 LHE #=
HIs{ENR. J2[1 HES 7Hst 57| fIsiM AL 2l0jR8S & £ ﬂ#EHIO[—.—
ACfM0{(head)= boldXMZ EAISHERIELICH.
=Y g2 Hist 24
Researchers began something.
Researchers began to believe that runners are able.
(EY24 « to FHAMR, &gt 20| |§3)

Researchers began to believe that runners are able to adjust leg stiffness.
(FA0 « to B, 2 20| F3)
Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike.
(A0« TX|AF, HX[AR J73)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on
their perceptions.

(A0 « 2AM, 2HEst 20 |3)
Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their
perceptions of the hardness or stiffness of the surface.

(A0 « XA, HRAITE £ + WEA=

=)

0

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their

perceptions of the hardness or stiffness of the surface on which they are running.

(A0 « 2AE, 2HE 20 F3)

Researchers gradually began to believe that runners are subconsciously able to adjust leg stiffness prior to
foot strike based on their perceptions of the hardness or stiffness of the surface on which they are running.

(=410f « EiA}, Etoj)
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H| =ZiiL|ct. Dangling modifier error($=4/0{2t Z8HE[0] QU1 ST 41019 £=ACiA0{7} Lt

22 EHOM Edst= ol2)E ZESta = 0] OfL[2HH, A0S 32 20| F7t HEHE WS =
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SR 0| F71H0l RS NTsts $41012 7Y

= 24 + £40] - 23 EEY2 28229
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1. 02 ALEE SAe| 2J0|E ehdst=H| 225t Ea A (st =0 +
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| =EA
o
E 1S E =89 Li&0| 2k ELIct. a3y

Hof, F0{)2 =0 2HHe YEHE 5% 281
giLiCt. Hoj= o LS MSsta ASHR? BEATUCE SESH XAl HEE H3s
£ A= 7tssHA st 1._4 712 g #=E UEE A XAV O SESHE AYLC 22HM 22
HCHE TE= LN &S 201 FIHHL LS =2l6iA MSste ASLIC
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Precision and determinacy are a necessary requirement for all meaningful scientific debate, and
progress in the sciences is, to a large extent, the ongoing process of achieving ever greater precision.
But historical representation puts a premium on a proliferation of representations, hence not on the
refinement of one representation but on the production of an ever more varied set of representations.
Historical insight is not a matter of a continuous “narrowing down” of previous options, not of an
approximation of the truth, but, on the contrary, is an “explosion” of possible points of view. It
therefore aims at the unmasking of previous illusions of determinacy and precision by the production
of new and alternative representations, rather than at achieving truth by a careful analysis of what was
right and wrong in those previous representations. And from this perspective, the development of
historical insight may indeed be regarded by the outsider as a process of creating ever more confusion,
a continuous questioning of , rather than, as in the sciences, an ever greater approximation to the
truth.
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progress is, , process
But representation puts premium
insight is matter
, but, ,is  "explosion”
aims
. And
may be regarded
e Tdshs T e 282 E23Q4att T HYE
T2 7ot AU AYULICE. 4]0 HEE H|Q|stL| F£ 0|0F7|E stz
UECHs AMME o 4 UELICH
SA0ls 24T MBSt YHE PHSHIFE 2o BR FLCH 202
SHABITH: BN WMoz 12|1 =2Hoz ME S2 oS, 3 23e
S s AR 2Re4Tt HEE HEE A sELIC

Precision and determinacy are

ZEOM ZAS Zeeh 41012 2% ®AH3S

requirement

LICt &2 210 €= gigLict.

development

, and

LICH B2 =2 A0[ gl&? 41017t 282 ¥

St=X| FHE 22 O|3Hx[X]

Precision and determinacy are requirement, and progress is process.

But representation puts premium.
Insight is matter but is “explosion.”
It aims.

And development may be regarded.
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Precision and determinacy are a necessary requirement for all meaningful scientific debate, and
progress in the sciences is, to a large extent, the ongoing process of achieving ever greater precision.
But historical representation puts a premium on a proliferation of representations, hence not on the
refinement of one representation but on the production of an ever more varied set of representations.
Historical insight is not a matter of a continuous “narrowing down” of previous options, not of an
approximation of the truth, but, on the contrary, is an “explosion” of possible points of view. It
therefore aims at the unmasking of previous illusions of determinacy and precision by the production
of new and alternative representations, rather than at achieving truth by a careful analysis of what was
right and wrong in those previous representations. And from this perspective, the development of
historical insight may indeed be regarded by the outsider as a process of creating ever more confusion,
a continuous questioning of , rather than, as in the sciences, an ever greater approximation to the

truth.
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G OEA wrote = X, 0{H Men?! X,
O tomato®l X[, J2|1 boy= 0= FELL
exhausted & S?it X[of Ztst XAl HHE
HSstal UX| ot & FFELICH LIBE
HEOZ MAIZ EHR7t QA7

The girl wrote.

Men gathered at the stadium.
| ate a tomato.

The boy was exhausted.

w7t Mo 2 FA|El £A0{(modifiers)ol| 2|51
M 228t HEIL MR D, 25| L]O| 35
T8} E|ALICE

The girl wrote quickly. &0 £4))

Brave men gathered at the stadium. (F0f £:4))
| ate a rotten tomato. (SX0] $=4)

The boy was so exhausted. (201 Z2 20 $4)
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comprement

| ate a tomato. - | ate a rotten tomato.

EHM0Q!l tomatoOf| st AX|ZQl HEHE K|35t 11 &L

Ct. ™ tomato? rotten tomato!
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—

comp ement

| ate a tomato. - | ate a rotten tomato. — | ate a very rotten tomato.
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CHeel SRl +=A0{=0] 282l i8S Tt ot 2hdS Al ZOPIEE.

AFPRS2 FYM+S0| 7H53ITHE AHEE 27| AR BiLCE EEAH o2 ZX|7} gl 2t 2H|Lct 23 2
20| Lt SYU+S0| 2| 20| 7Hs3tits HE?

ableg TAHFE to FEATRE FIIRMGLICE CiE|of| 2= B35S 22Y + = S20| ALhs 2= ableS |2t 5

[2] Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike.

djust 5t= A”E foot strike?t 27| Ho|2tn 1LX|gt sF1 UAELICH

[3] Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike
based on their perceptions of the hardness or stiffness of the surface on which they are running.

et &2 A2 (leg) stiffnesst@ perception X surfaceE A3t sliF= A0 E HS5H0] F4M-S0] leg stiffness
E 9XE £ U= SO MNE AHEOR YT B USS L43ELICE

(leg) stiffness « based on their perceptions + of the hardness or stiffness of the surface + on which they

are running
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4. $A012 ALBSHH SAICHYO(0) Z71Eel HEE RT3t Aoz 23| LSS THHOR oS
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The girl wrote quickly. (&0{2l wrote £:4)
Brave men gathered at the stadium. (F0{2l men $=4)
| ate a rotten tomato. (2X0{2! tomato $=2)

T

The boy was so exhausted. (201 2 20{2l exhausted $=2})



| failed in the exam, which was a total disaster.

OHOE “| failed in the exam.”0fl £7IXQl MHE K|St 2AE =22 AEH 28| 2HAE
Z AT SFE ALICH JZHCHH A0 - 22 282 246t A0| 7HssiCh= 0[0F7[¢l
7127 &, FLt Ho| A Ci&o{V} =t Q2

=
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M09 HEX 2 (non-restrictive &2 non-essential modification)
(restrictive modification 2 essential modification)0] commal| AIE8ut =5 |0 &2
wED USL|C

I

AHA 9] 282 spoken EnglishOIMLt AL E|=

2 = 282 20| commaE 20iA X0 =2 Ao
E0FSILICE Written Englsih -0 X k2

o
0|2t Qo|YLlct Ch3ah 20| 2-dx[0]

_
(L
=
—

| failed in the exam, a situation that(£2 which) was a total disaster.

22t Z2 $A0{E resumptive/summative modifier2tl 2ELICHRIS| ARE summative
modifier7t AF2El A0 sHEH EILICE. | failed in the examS a situation2 2 QM 1,
situationO|2H= S EHO{Ql £ AICHAIO E 2R Z stoig £AISHES 2 El QL.

Qlo] GloIME & 2 U= WX SAfaoj= Bt=A| “S EHO{(a word)” Q! 20| IE|QiL|ct,

AtA A0 9| HeHE 28 (restrictive B2 essentail modification)t &% 2
(non-restrictive 2 non-essentail modficaition)2 comma?l 18 7|5lL|C £
AL 2 32l sfiAut =IH =0l 20| Q17| WE0f| I 04 AF stX|= LASLICE =

Al ZHAl QI 2EE2 ofgf &= HEHE ATIEIM|Q.

O M =2

https://style.mla.org/restrictive-nonrestrictive/
https://writing.wisc.edu/handbook/grammarpunct/commas/
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SA0{7F T3t S 4 Rl SACHY0I0] BALS T El0f UBLICH HEAF B B
OfLt BEAL 7153 £t T 2 BAH B2 THYARIS 2418 4 9lom, A}
2Afel CHOfLE KAl 7158 4 S SA, YBAL B2 HAIGIE 2418 4 9

SLItE F7t HEE MS e Ao Bl =25 7| flet AE Lot

The girl wrote quickly.

(BA - 20{2 ABE AR wrote =4)

Brave men gathered at the stadium.
(FE8AL = HAIR! men £=4])

| ate a rotten tomato.

(FE8AL - HAIR! tomato F=4)

Everyone on the committee is happy with the plans.
(Everyone « on the committee, &AL 7|52| FX|AIT, happy + with the plans, FAt 7|52 TX|ARR)

That aircraft was a basket lifted by a balloon.
(basket + lifted by a balloon, $EAl 7| 52| 2AtH)

Members voted to accept his offer.
(voted + to accept his offer, £At 7|52] to 2-ALR)

A woman whom we met recently received an award.

(woman + whom we met recently, §EAt 7|52 A H)

As you hear the score, you notice themes that are associated with various characters.

(notice + As you hear the score, At 7|52 Z47)
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401 £4Ich40] HE2 ol PIXIBH= 20| FEILICE BE, O B2 24018 AR
ACHs S4 Th20f, 52 Sxjo| et Bi2{A0) Zoi= o /S XI7IX| o1 ST 2
32 S5P 2w 4 YBLICIE, 0f2{20] RIS TFICIE 2 X|747:0{0F & 2IF/)

=1
SXEE fIg “clarity"O|L|7tR. |X| 2 2IZS U2 X|
X

Hel=l2 ot
2 20N SAUY0E S A2 Y2 5t +2 HAYLICH

pre-modifier

2400 PO

| knowa smart boy doing his job sincerely.

post-modifier

R

aaciaol]  [2lof
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CHeofof| CHEH =210{2| 2|X|0l| F=HFML. =207} HORIX| Z2 /22l X|0f| [t 4=

I
Of Zto| RIX| 2A7t 28 gL Tt

Brave men gathered at the stadium.

(Brave men?| 0]l fIX[st JELICH

| ate a rotten tomato.
(rotten2 tomato 20| XI5t Y&LICH

{0k

%] 4]

[

Everyone on the committee is happy with the plans.

Al
2

0f-4

(on the committee= Everyone 0l {IXISt2 11, with the planskt happy2l Floll {IXIst2 AELICH

That aircraft was a basket lifted by a balloon.
(2A2Q! lifted by a balloon2 basket Fof| {IXI5t1 UELICH

Members voted to accept his offer.
(to 22! to accepted his offer= voted {0l ?|XI5t1 AUELICH

A woman whom we met recently received an award.

(AL whom we met recently= woman F|0fl /XI5t QELICH

Al
2
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A woman whom we met recently received an award. (

A whom we met recently woman received an award. (HX| 412 4)
g2, Whom we met recently a woman received an award. (HX[ =4

QI 44017} 2AlChA0] Yol £O|B 2AlCkA0] 5717} £IX] SLELICH S5 Pt
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The girl wrote quickly.

(The girl quickly wrote 2t #ZIS X[FHM AH DOt E2S7IR? A= SIS 4 #2310 W2t 232
LS &7l olsliet &= ANHM E1R)

Scientists need only understand how to use these various elements in ways that
others would accept.

(MRIAFEQl in ways that others would accepti= HEZ 2H0l| 2|X|§t elementsE AloHs A7IR7 use HIZ

dof| FH HENR? EE, AXIE 3 A HASHH Scientists need only understand how to use in ways

that others would accept these various elements...2t= A2 =2 [ O|abet L7} E|H{2[ 10 BL|CE 5HX]|
=

3, Scientists need only understand the acceptable ways of using these elements. 2t11 4iCHH 2

e RAAJAAKIL.)



8. 24017} HB3ts 27} HBot 244017} HEst2is HE 2H0)= Yt (coherence)?t EXHs
OF BHLICE. Al 7HX| 7512 B85t +-4IChA0f Thoto] 0f21S0] M EICIR, £:41019] LIS T £-4|ckat

0] £H 7t0f| L2l Y S MMEMK. OEX 57 A0S HEH S = ASLIC
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The girl wrote quickly.
(RARR! quicklyZt +AB1E 2= QU= CHARZ wrote 10l QIELICH IS4 MOt = 2|2}
= "HEA" = LW HERLICH WEEM quickly= wroteE ASHELCIDT 17| ZHEFEE 2= QUELICH

Scientists need only understand how to use these various elements in ways that
others would accept.
(L84 CHE 1FetXE0] 2ot S0[= 042 71X HA2 “AL8” HWAlS o|0|5t= 0| . [MEFA in ways that

o
others would accept= useE A8t EHEIE 4= QIELICH

Elderly criminals in Florida sometimes lead the police on chases at speeds of 10 to
15 mph.

(AT 07t lead &TR? police @27 HX|AER! on chases at speeds of 10 to 15 mph”7t 10 ~ 15
mph2| £E2 £ 5"0[2t= 2|0[0|22 FZ9| FH|Ql policeE AN 2 Hi= 20| EFEILICH
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Of all the states represented at the conference, the governor of Missouri was the only
one to present plans for enforcing the new regulations.

Of all the states represented at the conference, Missouri was the only one to present
plans for enforcing the new regulations.

M3t S0l Bt
Q7 FXAP B2

- /=

(MRIAFR! “Of all the states represented at the conference” & LS4 &
HE HMSst AELICH 20| HESH= L84 +Ad0l= 0| =00 e7te? FX
Missouri ? TX|AFT7} statesOf| 218t 0|0F7|E 5t Q22 =, statef| 2ret HHIL 2
Z&7? "Of all the states represented at the conference” & HI2 20f| 2|X[8t 0]
= TAMNFE IEAMTZ ALE EIRIELICH

fol ot

s

| AL
= 20
2l Missouri
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Collocation E&0]| etz ~AICHAO]

9. ZHtts| MYHSIAIH, TS0 &7 22| X[0] AFE £|= S4E collocationO|2t 1 £ELICH
Phrasal verb= CHEZXQI collocation?| O|RILICE. Phrasal verbOllA SARE &7H| AL E[= MX|At=E
st SAIE AT E XA E CHELICH WAL =2 $8AIVF MX[ALRL &1 AFEE = MX[ALZ}
TE = MX|IAMTE collocated El A B2 HEAIE $£AIHMO 2 JHEILICH O=X| iCtH &l 2
Of CHe O|R7t SIZIZ? TX|AHE QEX| MXAIRE TIEE SH0||TE AZELITIR.

— /|1
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CHE2 phrasal verbs2| O LIC}. Z2f SAtRt &4 At E|l= TX|ALE ST SALE A2 7t
K= XA E BHELIC.

Verb + Preposition Combinations

V + about V + at V + for V + of V + off
ask guess apologize complain I break
complain laugh ask die (also die from) call
dream r look r buy r dream cut
forget smile do getrid fall
talk r stare r look r think jump
think yell make keep
worry pay live
study take
thank turn
V +on V + to §V+toward V + with V +in
count ] agree L head ; agree excel
disagree apologize turn argue succeed
have ] be used L walk : break up
keep belong E work compete
pick L complain L l cooperate :
put i contribute disagree l
rely ] explain L : fill
take introduce get along
wait L listen L L help
work object finish
L pay attention work
l relate l l
reply I
say
r speak :r r l
talk
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2} ARt e AHE El= HXIME SiiE FEAE SAUMYUZ &= HRIMFE THELICL

.........................................................................................................................

A + about, at, for, A + by, with A + for A + from
angry about/at/with |  bored by/with | accountable | different
“concerned sbout/with | embarrassedby | bad L dvorced
"""" excitedabout | fustratedby/with | good | isolated
 happyabouvwith | i eady 4
""" somyaboutfor | | necesary i
unhappyabouthwith | i i

A + in, with A + of A + to A + with
disappointed in/with afraid boring familiar
interested in irfond r committed r impressed

guilty confusing pleased
in favor | important satisfied
] proud married :
sure/unsure opposed ;
irtired ' pleasing E

.........................................................................................................................

.........................................................................................................................

i unimportant

|1 44



Zf AL e AHE El= HRIME S HAIE A = d= TXIAE ZHELIC.

N + about : N + between ; N + on : Noun + to
confusion : difference : advice : alternative
------------------------------ I L L L e e L L L e L L L L T
question ; ; tax ; connection

: : : damage
: : : invitation
------------------------------
: : : reaction
; : i reply
: E : solution
------------------------------
N + of : N + for : N +in : Noun + with
------------------------------ R R e EE O E P e D L P e e L PR L CE PRt DECEPEE LR POREEEPPERERET PEPEEE
advantage : answer : background : agreement
------------------------------ R e R L]
benefit ; application ; change ; connection
cause : check : decrease : contact
cost : concern : experience : contract
decrease : demand : fall : experience
.............................. R L T T A L L o T T
diagram ; excuse ; increase ; the matter
example : fondness : interest : negotiations
"""""""""""""""" [ T T T T T T T TS E =
experience ; interview ; rise ; trouble
fall ; need ; ;
group E order : E
illustration : payment : :
increase : question : :
______________________________
lack : reason : :
..............................
map : request : :
______________________________
opinion 5 something : 5
payment ; ; ;
photograph : ; ;
------------------------------ L B T L EETECEEEr
picture : : :
------------------------------
price ; ; ;
rise ; ; ;
understanding ; ; ;
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10. =2l0{o| motnt fACjato]| Mot 4| 2| T2 sliMst7| Ieh & 7HA| MA| ZZLIC
Dangling modifier error( |O-|D|_f ZoE|0] AL, S A0 £ATHYO0 7L ZEtE(X]| 2 28
Of| A Er45H= of|2)E Zest Q= 2F0] OfL|2tH, =40 20| F7t HE HZ Y= 4
CH&O1E HEEA] FHOtOF gfL|Ct J2|1 Al 2 F32 M2 0rF 2| gL

= b —

-

—_—

146



I M B LEROIM 4] 27 222 Halst 230| iAS GasH2. HS0s
CIS OIS ZIO] SIZIXISH H&0| ZIME £2 44 BAS Zas 250| siA] 520

w27 34 EICHs AHAS HIZSHA 2 ZLIC,

AL 2| A A4 ZA|(A0] - 2AlCALOY)

Dreams within a dream that is spliced and diced up inside another dream confuse me.

(is) spliced/diced + insde another dream
dream « that is spliced and diced up inside another dream

1 EAl: 22{ofet £M Dreams «within a dream that is spliced and diced up insdie another
o] mpet

dream
2=A10] otof| £=Al0{7t Zete|= Alo| It 2A|E X2[5ts B CF2 B 29| Q20| A CHE o
Helu|ch

(is) spliced/diced + insde another dream
CHE Zo| YR=Z ZZLICE
dream ¢ that is spliced and diced up inside another dream

CtAl- 2AAIH AHE
2 EAl: 40| 3RS Ct2 Bo| dxa xzHLM Zite &

Alciaoof =7t

1

Dreams «within a dream that is spliced and diced up insdie another
dream
CIE Bo YR = ZZLEM ZatEl & ool BE
3 thA: etk sofol of LS SEIAEA TEC + CHE Bl 2R 2 RZLEM Z2etE Hotel 5= = TE

4+ Ho| LH2 ZaHEl BOo| HEO| LIS E2AF BHEC.
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2N ZER24E 2elot= MY 2 S HILIR.

The principle of distinctiveness suggests that we make attributions about people based on
whether their particular characteristics and actions are associated with specific outcomes unique to
the situation. Distinctiveness is the extent to which things occur only with each other and not with
other things. For example, if a student, who has a habit of submitting his assignments late, seems
well liked by peers and professors but is clearly treated harshly by one of the professors, then the
student seems to cause a distinctive reaction from this professor. If the professor in question is
consistently harsh with many other students, then the behavior is not distinctive to the late-
assignment student; rather it is low in distinctiveness, and you will tend to consider the professor a
harsh person. If, instead, you see this professor being friendly with all students except the student
with the late assignments, then the student seems to be unique or distinctive in eliciting this
response from the professor. In this case, the professor’s behavior is high in distinctiveness and you

are more likely to attribute the cause to the late student having done something to upset this
professor.

(BEA B2 A} EALD) Toj= Z3#
B 20f 2x0f Hof
The principle suggests that we make attributions
Distinctiveness is the extent
the student seems to cause a distinctive

reaction
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The principle of distinctiveness suggests that we make attributions about people based on whether
their particular characteristics and actions are associated with specific outcomes unique to the situation.
Distinctiveness is the extent to which things occur only with each other and not with other things. For
example, if a student, who has a habit of submitting his assignments late, seems well liked by peers and
professors but is clearly treated harshly by one of the professors, then the student seems to cause a
distinctive reaction from this professor. If the professor in question is consistently harsh with many other
students, then the behavior is not distinctive to the late-assignment student; rather it is low in
distinctiveness, and you will tend to consider the professor a harsh person. If, instead, you see this professor
being friendly with all students except the student with the late assignments, then the student seems to be
unique or distinctive in eliciting this response from the professor. In this case, the professor’s behavior is high
in distinctiveness and you are more likely to attribute the cause to the late student having done something
to upset this professor.

HR|AF Head

of distinctiveness principle

2A7

based on whether their particular characteristics and actions

. . . . . atrributions
are associated with specific outcomes unique to the situation
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Sentence is a unit of (logically) complete meaning.

Sentence is not a group of words but a group of elements and modifiers.

= =
=8 = 222 + 29

An element or a modifier can be a word, phrase, or clause.
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1. FLL EE S2RE QO|FRS - 22| EE 74|} 51| fIsiM HHof(word)E F(phrase) B2 &
(clause)Z CHA|SI0! AL E 4= JUELICE FLE A2 Tof TiA ALR =|0] BE24 Z2 2012 7|SEL
Ct.

2. HXIANT B - HXIATE QoA 7K H2 TH01Z EEHSHD 9l WAHnoun)S $MO|(EEAL 52
SANZ ABE 4 UTE S OFF EEaHwHoILIT) AT} LIt MRS Zatsts waloz 2
HALO CHEIA Of2f ZHX] T2 |0IE JHXI= $AI012 BHS 4 AUEE ShELICE,

IX| A2l el (1) - TXIAFO| e AL 22 CHEAE 4 2 & ASLICL
FA0|E Zofsh=H|, FXIALS| Z0[7F Z0X|1, 2271 SESIX = 2T OI%%ILIEf.
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4. Hx|AIL] A0 - HXATLE X £40{0|2 2, AL Y0 = HX|AS Hiz 2Hof| 2I%
A QLICE. SHX|E, IR #2E XI9IXI 200 MEE FXAIEED, XML SEAE 2B RARE
7158 == 7| W20l s=Alcheo] 27|7F HX| FELCh LEES HiE = SAUYE Hopts EAe
= MY E HOtFM Q. 2o miet S22 HxAe Hel mief S3lS 2F = 718 8%
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5. FEIATL] e (2) - HAALTC] PAVCHYARF CHE REIATO) QlshA 44] &l 7} SjLICE HA
AL Of 241012 2 TEBiLICH

6. Again, collocation E310]| ZHel AL &k0] - 2HEHS| AHGHAH, HHO{S0] & F2| X|0] A8 &=
42 collocationO|2t1 EEL|C}. Phrasal verbE CHEA collocatlon°| Ol IL|Ct. Phrasal verbOf|
M SAR A AL El= MXIA= ST SAE fAlsFE= T Il*f—_rlz ':'._*E LICE YAl =2 f8AIV} XX
Atet SHH AFSE HE MX|IAZE == MXAE collocated Bl A 22 HEALE SAICHAOZ THE
LICH J=X| CHH &H 201 CHe O|R7t SIFE? MRAH=E LEX| HMXAE PtEE= SX0f|TH AFEE|L
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HXIALZL GAL =22 cHE ARt Zetsto] 2S00 o|0[FS0| FX|A LT

* Noun(Pronoun)

* Preposition

prep noun
HE|A + YAHCHH AL = XA
in a garden in a garden
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examples M x| AL
What was her reaction on hearing the news? on hearing the news
S@AT
They won the award by working hard. by working hard
Al | cannot approve of what you did. of what you did

Your seat assignment depends on when you arrive.

on when you arrive
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Hx[Ab= 2 LHOIM 2t AL EIX| ZefLICEH 28 WolA BHEA] FAL, iEAL 22

YA 7|sE wAsts L Bt Ze5to] MRIA HEHZ AR =[0{0F LIt TX|AL
2| o|0|E HcH= mtef St HRIALS| 2O = HHEA| 74 10 RA0{OF BfL|CE

CHEEOl MAIAIE 2

1 EASLICH 2[0|ef ebA| BIEA] 2AFMQ. BEAZ AL &
7|& sh= A2 BZAHEHU

Sl

aboard about above across after against along amid among around
as to at before behind below beneath beside  between  beyond by
circa despite down due to during except for from in into
like near of off on onto out over past since
through to toward under until up upon with within without
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ot LA 12 sHE utst= ZHE Xt £X| k=0, 22 ZHErefL(Ch BHY,
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2 ZHAE miete = e s3HS 71 2207 OFF #[2 X[ #L(C

Question)

The dummy’s job is to simulate a human being while a crash, collecting data
that would not be possible to collect from a human occupant.

while2 HSAE A2 ELICH 330 while & 220]| a crash2hb= AR 11, &0

7t AELICE w2t , HEARR! whileO| A E[H Otz MX|AIR! duringO] A &
O{0f BfLICH.
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HX[AL B0l BAIZ AR &= A JSLICH FE-0[L? O phrasal verb S0
M B2ARRI ATE FEM 7(5HH ELICH SH0E K| = SAkintransitive verb)2t
2 50| A2 &= 2AFE 7K E FEISHE/USLICEH

Mary went away.
Helen sat down.

OfHoll= SHOE 2= SAIRE ZEst0] et AHE El= FARS| FLYLICEH

We could make out a figure in the distance.
He tried to blow up the Houses of Parliament.
Could you put your clothes away, please?

OIS phrasal verb®| SH0{7} AR whot LA wh ALS] 2%/ Fo|gt
LRI} QUSLIC HYAZ SHOIZ A EIUCHH BHEA] verb CHS0 S50]
7} SIXI3HOF BHLICE,

She tidied away her things. & She tidied her things away.

| picked up Jim on my way home. &2 | picked Jim up on my way home.
| picked him up. 3tx|gt, | picked up him. (X)

He blew out the candle. £2 He blew the candle out.

He blew it out. 3tX|2t, He blew out it. (X)

CHE phrasal verb 2AFMR. SARE 28 =0 A= A2 TX|AZ} OF! SAML|CE,

to bring a child up

to blow something up
to break something off
to bring a subject up
to catch somebody up
to clear something up
to close something down
to give something up
to leave something out
to make something up
to pick someone up

to turn something on
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= 4 QUBLICE TAR] 93t /0] 441017

HR[AFE 5= BAVU A= =4 E
ZobE = Aenz, MR|AML| YIS tte mff 0|218h A0 E BIEA| et A|A F
OfOf gLCt.
MEMT = HEA 4l0f oA 24l0f
in a garden
in a pretty in a pretty garden filled with floral scents
garden filled
with floral
scents

R 7HX O E O €HE27R?

The youngest children plantd a garden of sunflowers.

Visitors to the garden especially enjoyed the sight of tall golden flowers.
HX|AT = flowersE =415H= tall goldens Z &t el

George often composes music for poems that he likes.

HRIALRE poemsS 44t RS mEBILIC
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* visitors
Visitors to the garden especially enjoyed the sight of tall golden flowers. oht
* sig

* garden « of
The youngest children plantd a garden of sunflowers. d nToe

sunflowers

* music « for poems

George often composes music for poems that he likes. _
that he likes
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That site is perfect for the location of a tourist attraction.

of a tourist attraction2 MX|AF0|1, LIE4F HIZ 20| RlE= location2 A gtL
Ct. 20| location for@t Z§st01 IEE CHE MXIAILE TS JUEL|CH 2=, of2f
B2 OS24 F e MXIANRE Z& o5t QELICt

location + of a tourist attraction
perfect + for the location of a tourist attraction
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HR|AFRL| Hel= HX|AFRO| ZEHEl WAL/CHHALO] CiEt ZE 4410
At g UX|OHN 2.
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Elderly criminals in Florida sometimes lead the police on chases |at speeds of 10 | to 15 mph.
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0921 7He| HX|AFZ 0|0 2[X|5t0] StLte| 721 MR|AFFE O|F = A7t E8tL|Ct.
Edfjstm = 0|2 ®X|AIS SHRAXE(nested structure)2td £EL|CE &
FN = B2, HXIAHL| #Hf B 2| RosofF L|CE Of2f E&2l & £&
ofl 4l 7He| MX|AF7F £t E[0] U=, O] B Ml 7H2| MX|AF= on chases. .. MK
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10 « to 15 mph [1]

speeds < of 10 to 15 mph [2]

chases « at speeds of 10to 15 mph [3]

police « on chases at speeds of 10 to 15 mph [4]

Some of the superpowers | dream of having include summoning jack o’ lanterns on people’s

lawns during Halloween and making people burst into the Gangnam style dance.

o1 0|0 QIX|5t QUCtT M RE SHTZE FtEE 22 OfHLCH CHE29| & MX|At
T, on people’s lawns®t during Halloween2 Z™E 71X E O|FX| &1, 2tz
summonings TAIFI JAELICH

summoning + on people’s lawns
summoning « during Halloween
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Robert Boice has conducted detailed analyses of the work habits of faculty members,
distinguishing those who are productive writers from those who are not. A major finding was that
productive faculty tended to engage in short, consistent writing sessions spread throughout the
week, while nonproductive faculty tended to engage in intermittent “binge” episodes of writing
spread far apart — that is, they frequently procrastinated, and then, when they did write, they wrote
intensively for long periods of time. Although the procrastinators believed that long, intense writing
sessions were necessary to be productive, Boice concluded that binge writing itself was part of the
problem. However invigorated one might feel during an intense session of writing — and
procrastinators often reported this — this pattern of work is so effortful that one soon starts to avoid
it. In essence, binge writing sessions are sufficiently aversive that they punish the act of writing.

@ OfH| TX|Ate} Zefet HA/HEALS HOtEASLICE

Robert Boice has conducted detailed analyses of the work habits of faculty members,
distinguishing those who are productive writers from those who are not. A major finding was that
productive faculty tended to engage in short, consistent writing sessions spread throughout the
week, while nonproductive faculty tended to engage in intermittent “binge” episodes of writing far
apart — that is, they frequently procrastinated, and then, when they did write, they wrote intensively
for long periods of time. Although the procrastinators believed that long, intense writing sessions
were necessary to be productive, Boice concluded that binge writing itself was part of the problem.
However invigorated one might feel during an intense session of writing — and procrastinators often
reported this — this pattern of work is so effortful that one soon starts to avoid it. In essence, binge
writing sessions are sufficiently aversive that they punish the act of writing.

FX|A} + HACHEAL Z8HS &IQFOL| FX|AlC| HQZ &tn1 4AlCH

=]
@ O E HOEWSLICEH =AM E0 = boldz ZZESHISLICE

Robert Boice has conducted detailed analyses of the work habits of faculty members,
distinguishing those who are productive writers from those who are not. A major finding was that
productive faculty tended to engage in short, consistent writing sessions spread throughout the
week, while nonproductive faculty tended to engage in_intermittent “binge” episodes of writing far
apart — that is, they frequently procrastinated, and then, when they did write, they wrote intensively
for long periods of time. Although the procrastinators believed that long, intense writing sessions
were necessary to be productive, Boice concluded that binge writing itself was part of the problem.
However invigorated one might feel during an intense session of writing — and procrastinators often
reported this — this pattern of work is so effortful that one soon starts to avoid it. In_essence, binge
writing sessions are sufficiently aversive that they punish the act of writing.
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6. 2ths| MHSHRH CH{E0| &4 22| X0 ALE &= §42 collocationO|2t11 EEL|CY.

Phrasal verb= CHEZ Q! collocation?| HILICt Phrasal verbO|A SAIRF SHA| At E|= HX|
At ST SAIE AT E TXIAFTE RHSLICEH HAF =2 AV XA 8V AIEE e

FX|AZE 2E= HX|ALE collocated & AL 22 HEAE AL Z ZHHLICEH 2ZX] 85
CHH 2P E0] CHE 0|/ 7E QUZE? FXIM=E QEX] TXAFE THEE SHO|T ALEELI7TR.
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CHE2 phrasal verbs2| O LIC}. Z2f SAtRt &4 At E|l= TX|ALE ST SALE A2 7t
K= XA E BHELIC.

Verb + Preposition Combinations

V + about V + at V + for V + of V + off
ask guess apologize complain I break
complain laugh ask die (also die from) call
dream r look r buy r dream cut
forget smile do getrid fall
talk r stare r look r think jump
think yell make keep
worry pay live
study take
thank turn
V +on V + to §V+toward V + with V +in
count ] agree L head ; agree excel
disagree apologize turn argue succeed
have ] be used L walk : break up
keep belong E work compete
pick L complain L l cooperate :
put i contribute disagree l
rely ] explain L : fill
take introduce get along
wait L listen L L help
work object finish
L pay attention work
l relate l l
reply I
say
r speak :r r l
talk
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2} ARt e AHE El= HXIME SiiE FEAE SAUMYUZ &= HRIMFE THELICL

.........................................................................................................................

A + about, at, for, A + by, with A + for A + from
angry about/at/with |  bored by/with | accountable | different
“concerned sbout/with | embarrassedby | bad L dvorced
"""" excitedabout | fustratedby/with | good | isolated
 happyabouvwith | i eady 4
""" somyaboutfor | | necesary i
unhappyabouthwith | i i

A + in, with A + of A + to A + with
disappointed in/with afraid boring familiar
interested in irfond r committed r impressed

guilty confusing pleased
in favor | important satisfied
] proud married :
sure/unsure opposed ;
irtired ' pleasing E

.........................................................................................................................

.........................................................................................................................

i unimportant
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Zf AL e AHE El= HRIME S HAIE A = d= TXIAE ZHELIC.

N + about : N + between ; N + on : Noun + to
confusion : difference : advice : alternative
------------------------------ I L L L e e L L L e L L L L T
question ; ; tax ; connection

: : : damage
: : : invitation
------------------------------
: : : reaction
; : i reply
: E : solution
------------------------------
N + of : N + for : N +in : Noun + with
------------------------------ R R e EE O E P e D L P e e L PR L CE PRt DECEPEE LR POREEEPPERERET PEPEEE
advantage : answer : background : agreement
------------------------------ R e R L]
benefit ; application ; change ; connection
cause : check : decrease : contact
cost : concern : experience : contract
decrease : demand : fall : experience
.............................. R L T T A L L o T T
diagram ; excuse ; increase ; the matter
example : fondness : interest : negotiations
"""""""""""""""" [ T T T T T T T TS E =
experience ; interview ; rise ; trouble
fall ; need ; ;
group E order : E
illustration : payment : :
increase : question : :
______________________________
lack : reason : :
..............................
map : request : :
______________________________
opinion 5 something : 5
payment ; ; ;
photograph : ; ;
------------------------------ L B T L EETECEEEr
picture : : :
------------------------------
price ; ; ;
rise ; ; ;
understanding ; ; ;
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World leaders gathered to negotiate a treaty.
Will the leaders fail to reach an agreement?

Good players avoid running with the ball.

During the playoffs, our tired players appreciated having a
free day.

Pausing, she searched for the source of the strange noise.
That aircraft was a basket lifted by a balloon.

He pretended to have lost her number and so had been

unable to contact her.

She doesn’t want to be helped.

176

World leaders negotiated a treaty.
The leaders will reach an agreement.

Good players run with the ball.
Our tired players had a free day.

She paused.

A basket was lifted by a balloon.

He had lost her number.
He had contacted her.

She is helped.
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+A0l= LEX| FYAE 2[5 EXELIC]. 2Het 200 ZetEl =0, M0, 20l= =
2, 20|, 3X0], 201E 22 AEF= +A0= 2Eeh 20 730 25 28t "L L E2SA
T HHSE 20 F20|22 OiEt 7HX| EA oz M| S Fof=H EL|ot.

Elinor Ostrom found that there are several factors critical to bringing about stable institutional

solutions to the problem of the commons.

E=SAHL B (to HXIAFTE T M5ts) SHARL
A0 E HQlsh 2t
3t 20 22 bringing (&%)

M5t =01 F2 W bring(ing) + about stable insitutional solutions « to the probem ¢+ of the
o 4] 2 commons
SHAS| HE bringing about stable institional solutions to the problem of the commons
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to BEAITE BYRAR J|SE £ U1, £A0{2 7|58 £& Y| G20 Chen 22 &
NE 7152 THeszMe,

to |2 ™AIe] 7|

127 to B E Zefet 282 24 o), EERA7I EE MAXN AKX HTHH?

AR JIs

]
ol

o
cre

° —

HEI5H= A8ARL & It - to BEAE 2% FOE 7|s - difficult, easy, possible,
impossible, hard, right, wrong, kind, nice, clever, silly, foolish

It was difficult for us to hear what she was saying.
It is easy for you to criticize other people.

- CI2 SAPE 20|12 A2 E I SH02 7|5 - choose, decide, expect, forget, hate, hope, intend,
learn, like, love, mean, plan, prefer, remember, want, agree, refuse, promise

They decided to start a business together.

« CHS SAPL 202 A2E I EMHEO0 2 7|5 - advise, ask, force, encourage, invite, order,

persuade, remind, tell, warn, expect, intend, want, allow

She reminded me to turn the lights out.
He encouraged his friends to vote for him.
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T EA: to REAILE Zetet

2 THA:

HEO|UES HIEC=Z ¢

=k Y, A0z 7|5e £ V| W20 St 22 &

dEAMR J|S

FAR IS

« YAE RISt

| have no desire to be rich.

They gave him an opportunity to
escape.

She was annoyed by her failure to
answer the question correctly.

o C}2 FHUAE A3t - ability, desire,
need, wish, attempt, failure,
opportunity, chance, intention

- 2/9|E 0| ojn| E3i -

He bought some flowers to give to his wife.
We set off early to avoid the traffic.

They spoke quietly not to wake children.

- AW BHSE YBALS $4,

ol /&9l -
disappointed, glad, sad, happy, anxious, pleased,
surprised, proud, unhappy

We were happy to come to the end of our journey.
OIS HE8AE 4 -
able, unable, due, eager, keen, likely, unlikely, ready,

prepared, unwilling, willing

Unfortunately, | was unable to work for over a week.
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ST = BAL 7|52 ssiEE EERARW Vs

FaLict

FLICE. m2hA, 71 mheto] a2| ofE k|

o

TH: SBAFE Zdfet 2 ZEQ4 Lol EHRAVIEE MAM AKX HCHH?

2 Tl ZO| LB S HIE 2= 0| 22 SH0{/20{ 0{& T

- Fof

Learning English is not easy.

- 2X0] - C}29| EAP} 20| ARE HS

| like playing tennis.

+ admit, like, hate, start, avoid, suggest, enjoy, dislike,
begin, finish
C AL + SHALT - HAIATR

You can get fit by swimming regularly.
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SATE QK| HSAIREH AL EILICE T2LN, OFF €71 715 1ot 8 4 gLk At
SAICHAO] 57| T 2BLIC BH2 Sofl QIXIEH BAF B2 LB SAIThA0{0|LI7HR.
OF, £A|CHAO{7} ZAPT0) ZEHEI £019| 2|04 Z:0{0]7| D20, |04 Fojete| 2L EfS

RF= Ao FoAHFAML.

The crying baby had a wet diaper.

crye SHOLL HO{E = 3HX| §= AtSA0|7| Mi=20] & Hoj= 2AIFE AdefL|ct. a2y
M AT &0l baby HEZ 2F0f| @IX|5t3L AUELICE. crying2| FX= baby7t X2 J2iM 5
SYe=E HH EASLICE

Look at the panther climbing the tree.

HtZ 20l 2IXISt pantherE AT JAELICE climing the tree®| FH|= panther?t 5
&2 et ssdo 2 HH EAUSLICE

o oo A H
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EATE M ZHX| HEIC 2 2 AE EL|C. 5] A Hmjel & Hmet 20| 22 ™ o, E% =
& FoM HotZ 22|50 A8E FR0| FESMR. F 42 2F 282 FOHE 4I5l=
Cl, OIZ OlZslM EiE ZF5k= EHI7F Xl =|7LY, **'EH“CHO' =82 F07t 2|0 x01

Adets o o U W20 BA7F &R 401 AR E mtosh=s sHS HIAE St= EX7F EX|
gL/t
& W oHof| fIx[5tn Aotz 22

S
HO
0

~ing/pp, @ + P..

Hunting for deer, Julian’s rifle misfired.

Hunting for deer, Julian failed in firing his rifle.

Having finished the SAT, he enjoyed joyful time.

Active in community service and local affairs, Obama nurtured his political passion.

Dressed in a cute outfit and filled with cotton, teddy bear is loved by Tiffany.

(2) =% o 5ol x/5tn Hotz 22|

—

@ + P...i, ~ing/pp!

Chris saw the march of marines looking outside the window as crowds cheered on either side.
Chris saw the march of marines, looking outside the window as crowds cheered on either side.

(3) =% ololA b2 20| Qs BANHBALS 24

S ~ing/pp!... .

The man carrying the bag is my father.
She showed us a plate of scones crammed with cream.
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A0 HSAE ZetEl HEHE reduced adverbial clause2td X[ESHL|CEH 2ALQ} S|
BAENM 2HC £0{E A5t siiELICE

After having lunch, she went back to work.

After she had lunch, she went back to work.0llX] After she had lunch& 2At &
Ef 2 HE&St ARLICH wentE SAGELICH SAFL] 2|0]0f MEALe| 2|0|E FIt6A
SHAMsl =M.

Although beautiful, she still felt shy.

be SA7t 2AE BHEOE = beingS WeFEILICE Although she was beautiful,

she still felt shy.0ilAl Z&EQ1 Although she was beautiful2 EAILZE SEHZE ESiSH
AULICE feltE +=AHELICE =AL| 2fofof FEHAL| 2[0IE F7I6HA siAaiFM Q.
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23l i SiLiel 2oz Bs 4= Ik R? 2|1 (2) THojLE 7 Ch
ACHL? H|, Poi= 0|F 7Hs5HA siELIcH 282l Z,

T—To—

4] 1] LIS 2 BT Qs & JH OJ40] RS Eras| st WA
4] 2] 2YS CI2 2Ho| BYLLAZ BB Wi B2 £40|2 B WY

Az Al Aol AR == WA daAtel 5

Cha o1 SSESAL FANBOYS
(coordinating conjunction) (For, And, Nor, But, Or, Yet, So)

st 2&= OE 289 that, what, if, whether, ...

BROAZ TSHA|F|

= WAlol 1A

o AT AL

Y (subordinating conjunction)

5t 212 12 2Eto as, because, when, while,

AMO|Z ZHA|T|= whereas, although, ZAHICHY

HAlo| A A Al ...

190



SLICH AZEof

b= QUA| ElLICt

Crs
=

Sxe Lige Bt FHEoR H

S0zl

ot

191



FIl =2 M 7Hel 28S 92 st AZ &7 oS 2E= 20| EXX|= W&
HEML. M2 WE AL As

|-J

tAlof| =

-

M= T A=

0121 7He| 20| JHEH o2 EME et siLie] 2oz A2 KUS miel At0[H2 FALNR?
o

S
stLie] 20| 23T += U= LS| " d LTt

Sentences

All of my friends boycotted the concert.

Ticket prices were outrageous.

Recently the population of Kirkland has
grown.
Our traffic problems have also grown.

Dave may study architecture.
Dave become a contractor.
He likes buildings.

A sentence

All of my friends boycotted the concert; ticket prices were
outrageous.

Recently the population of Kirkland has grown, and our
traffic problems have also grown.

Dave may study architecture or become a contractor, for
he likes buildings.
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| = o =
O o|4e| EXE st M M&
x =S =L L—- A =
X A2 ol= MEAIE Bt
o AL S
Chte Ads =

=0 F 7l of¢e 2F0| HZE[E

Al'(conjunctlon)ol 2o
EA| 20{ 0{0f 5t= 20| %, SYTKAIE AZSI0{ 012 7He| E&

LIt S22 281 22 Alolof B

t
ISLICEH EEAE Q10| &= 7l O|A2e| 270 M &|™ run-on sentence error

= H&EAL s SHA| Rettts AR YLCE EHX| comma

— -de

= run-on sentence error?| &fM5H=0|, 0| Ul 2 lst=

errorE comma splice2t™ X|&5t7| = giL|Ct T2 2&A 22 run-on sentence error?}

HEAHSH OI|_|[:|.

EC)I_

Sentences

All of my friends boycotted the concert.

Ticket prices were outrageous.

Recently the population of Kirkland has

grown.
Our traffic problems have also grown.

Dave may study architecture.
Dave become a contractor.
He likes buildings.

A sentence

All of my friends boycotted the concert; ticket prices

were outrageous.

Recently the population of Kirkland has grown, @ nd
our traffic problems have also grown.

Dave may study architecture or become a contractor,

fOI" he likes buildings.
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Sentences

All of my friends boycotted the concert.

Ticket prices were outrageous.

Recently the population of Kirkland has
grown.
Our traffic problems have also grown.

Dave may study architecture.
Dave become a contractor.
He likes buildings.

St OlR7F BANEQ? Zetel 282 9Z &|7| ojne 28
M XI0|E E0{E = &Hofl glsLIch &, ot 20|l o B2
et o+ ELIC o 2AEE 0| B 28 SSiM 2
HEEE =2 = AsLIL

A sentence

All of my friends boycotted the concert; ticket prices were
outrageous.

Recently the population of Kirkland has grown, and our
traffic problems have also grown.

Dave may study architecture or become a contractor, for

he likes buildings.
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for
and
nor
but
or
yet
SO

; (semi-colon)

0|0 AZSt HiQt ZH0| 21 EHE A A5t M HIEA| HEALC| =2 BIOLof §iL|CH LHEA 2
A7t e = 7 o|&e| EEE thas| stLie| EHo = DS & [ AR &= HEAE SRS
Al(coordinating conjunciton)O|2f 2ELICt 05 7tX|e| HEAL SUTSAO| =& ElL|CE
9 T2t A FANBOYSEL 7[5HH Z&LICE. Semi-colon2 FANBOYS2| 1 OfTH &AL
T AEte SMo2 ASE £ JELICH

3|, because®t H|8t 20|12 =

becauseE MM E|X| L2727

Sentences

All of my friends boycotted the concert.
Ticket prices were outrageous.

Recently the population of Kirkland has
grown.

Our traffic problems have also grown.

Dave may study architecture.
Dave become a contractor
He likes buildings.

SI5HE for/t SATSBA| Eet=l O|fE RBALNR? Ot
A0t HF|HNML.
A sentence

All of my friends boycotted the concert; ticket prices were
outrageous.

Recently the population of Kirkland has grown, and our
traffic problems have also grown.

Dave may study architecture or become a contractor, for
he likes buildings.
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=7 ol¢te| 2Ol AZE E[0] StLte| 20| £|l0{: AZ2| Zut=2
=o{OF giLICt. 0{of| 2Jgt E2fo| TlE + =2

=y 2=
|_' E

Xl 2% (sentence) QH0f| Z &=

SIS0 2faiA ‘?_17245_'
ot 2|0 QIS #JLICE ©E
(independent clause) £2 LS
siAM = 7 O|A&te| 2&0| A E|of

_ o5

S del el
All of my friends boycotted the concert

Recently the population of Kirkland has
grown

Dave may study architecture

SO

EAl commaE

0| CHE Hoj| CisiiAM o 7152 *%‘axl fan|
otafe ME7F X Q
E(independent clause)2t1l £
2%2 F&(compound sentence)2t1l X|&EHL|C}

Zof Yeloll SeESA= 28 2K 30 =

DHSOIZI 23 Est 270l2tn
UASLICE 0|2{§t E2tS 17| 2|5t0f AZAE|0f THEO
(clause)2ts HES| E0{E ArE5t0{ X[ZfLICt

2120 |0 A7| TiEO| 2
'—IEP. = 3._, R I’“*Moﬂ 9|

SotNQ. CHE0ll &2HEA 2 S5E2

BSA CHSE2| He
, for  ticket prices were outrageous.
,and our traffic problems have also grown.
or become a contractor,
, for  he likes buildings.

Z:0{oF BiLICH Cigt
6_ S0 HUR BHE F92 B 4T

commaZ= AI25IX| ¢t= Zd0| fl=lelL|ct,

o 7kX| ofl2l7F ASLICE. 2Hed =

QTIE S2TA ol
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CH2o| AAZ0 = BEAHadjective)2M &AL 282 5HX| 25t= AUEQILICHadverbial
n- gtstL|C 20|t

transition). [[I2fA] FHEAF Q0] AFR E[RUCHH ru
SHH| HIEA| 27 |SHEMQ.

on sentence errorg §

also, consequently, finally, however, likewise, moreover, furthermore,
nevertheless, otherwise, then, therefore, thus, thereby

Question) In their zeal to make beachfront living widely available, developers
have overbuilt, thereby they endanger fragile coastlines.

thereby= RAIZM BEAL 7|52 >SHA| ZELICEH = 12| 2F0] ZEAL g0l AZEK @

O©OZ run-on sentence errorg Z&st QY
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ra
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to{el 5*9.. £ H=2 thFlste=
(subordinating co njunction)ﬂf
AMg E|7{LE, &2 TX[Art 25t

A sentence

Someone wins the game.

The weather forecaster predicts
tomorrow’s weather.

Your seat assignment depends
on the situation.

o2 E&O| LIS 7H|5t siE 4 JELICH Z 7
{5101 2FS 0Tl S8 (subordinate clause)= 2%
HX|AFTE BHELICH SEE0| YAt 7|52 sdisiC

Y40 HHE E2 tiXsto] LIgS

Txl|2ket 21t

Whoever score the most runs wins the
game.

The weather forecaster predicts that
tomorrow will be sunny.

Your seat assignment depends on when
you arrive.
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SEER2 RS 2N 7] 2% 2HolM HAIR 7|5 510] 2EeA dets sallstHLE TX|At}
A5t XA E HE= SH0| A8 & == U=, 0l &3 7|52 Yotz 20| =230
zotel 22, ZEet E 222 FH(main clause)2tdl X|&stD, EF 7|58 ©Eot7| 2l5t0]
Eot=l M2 S2HM(subordinate clause)2t X|&IEHL|CY,
A sentence TS =3
Whoever score the most runs :
Whoever score the most runs ... wins the game

wins the game.

The weather forecaster predicts
that tomorrow will be sunny.

Your seat assignment depends
on when you arrive.

The weather forecaster

that tomorrow will be sunny. )
predicts ...

Your seat assignment

when you arrive.
y depends on ...

SR 22| 52| Mel= HEMRE 22| 2 BEVHKIYLCE
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2Y8 WA 7I58

2 Ul 7EX SEESA] -

Subordinating Conjunctions

that, what, whether, if,
whoever, how, whatever,
when, where, whether,
whichever, which, who,

HAE
noun clause

whoever, why

* My greatest asset is that | am a hard worker.
® Whoever thought of the idea is a genius.

® The focus of how we can satisfy customers
most effectively.

e Choose a gift for whomever you want.

e | wonder how long we should wait here.

* | am packing extra snacks for when we get
hungry.

* Always give audience whichever you perform
for a great show.

OtE = ™AL | ZH(that, what, whether, if)2] EZ1} Xjo|H S &

« that2| 22 a6l HO|2t= AHE & 5= U= R0l Mkt |

* whether®} ife| X0|= HE&5l2 = option2| £=(F 7H vs. M| 7H o|&h)oll ACt= H

« what2 ARLO| ZE= BAEO| 2ot E8Q4aLt TXAIRE ZefEl HA/MEALE 285t QU
7| t=2oll ZoilM sHE HAY/C AR W2E[0] = AMEH 2eltt= |

Conjunctions

noun clause

| think that he is a liar.

The fact that he is a liar surprised me.

that * | bought a box that eventually helped me to move out.
adjective clause
« | think (that) he is a liar.
« | think that he is a liar.
that/what noun clause
¢ | know what he knows.
. * | don’t know whether he will come on Friday.
whether/if noun clause

| don’t know if he will come on Friday.
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E HSAQ Zet|0] 2EUZE H2 BA7|5E sdcts AR V(s 2LICH 02229 =0 =t CiE
2ol ZAH™EATL HAPE (adverbial clause)E BtE= 2X0f| At EIL|CT
Sentence HE 402 A5 LHIES Alskst At
, ) Richard has studied ants since he was A Al
Richard has studied ants. . [: 2;”
in kindergarten. SAE
, Whenever he found anything written 2210
He read it. _ o L
about ants, he read it. At
The queen ruled more powerfully than
Th led fully. her earl Id h FH0]
e queen ruled powerfully. her early supporters could have b
imagined.
Th h h ; [=410]]
. ough her part was small, | liked the
| liked the actress. ho olaved the villai SAE
actress who played the villain. gAY
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BAIZ 7|sote 4530 20| EH 7|52 Yotz Ho| 280 =
2%2 FH(main clause)2t X250, EH 7158 57| {5t

(subordinate clause)2t X|&EtLICE.

WE EBSH=H A8 &=

A sentence

Richard has studied ants since
he was in kindergarten.

Whenever he found anything
written about ants, he read it.

The queen ruled more
powerfully than her early
supporters could have
imagined.

Though her part was small,

| liked the actress who
played the villain.

1 0[] BAREZ FH9|

BEAFE2 H|uo| 9|0 Eolst= ¥

£0{E A3t SiFELICE

O

A
==

subordinate clause
since he was in kindergarten

Whenever he found anything
written about ants

than her early supporters could
have imagined

Though her part was small
who played the villain

ZAILE RALE A} s FX

<X
=

main clause

Richard has studied ants

he read it

The queen ruled more
powerfully

| liked the actress

£7H0| el HAARE Ho| T BEx/eLIC



Ct2el BL/EAE= BAL 7|58 oddste Z5ES UELICL $£24]0|E oS0z
HEAO|E 2 Crggt 2J0|E HEoie =+ Q= IS0| 25 =0 SLICEH
Subordinating Conjunctions
They remodeled the library while school was
; h ; | out.
Before, when, r, until,
e.o ¢ en, atter, unt ) When | study, | do well on my tests.
while, as soon as, to show time )
She mailed the letter as soon as she could.
whenever, as long as .
Before the tornado hit, grandma called to
warn us.
Since the tutoring lab opened up, he's been
because, since, so that, in to show cause and doing better with math.
order that effect or purpose She can't wait for snow because she loves to
ski.
The crickets begin chirping whenever night
if, unless, whenever to show a condition falls.

If you need help, you only need to ask.

though, although, even

to show contrast
though, whereas

The flower bloomed even though it was
winter.

Though | don’t get to ride, | still love horses.

as if, as though to show similarity

He spoke as if he knew the topic well.

where, wherever to show place

Wherever Mary went, the lamb followed.
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FAL 7158 s¥sts S5EQ M S QoM HEAQ 2J0|S HEA| 20HF0{0F §f
LICE JX| taM SEAES| WES FtH=Z siMet &~ gl7| WEZ LT &X[0f 2|0]
o R Mol HEME Hot= 27K EYAEY HE 282 X 27| sty

.

Question) Airport runways must be constantly swept clear of trash and
other debris that could be sucked into a jet-engine intake or it could
cause a serious accident.

& Eol LiE0| Jelzt 21 2t

n] A2 Z, or7t OF:l becauseZ ¢1Z
E|0{of gfL|Ct.

i
b
rgl
=Oll__l
i
i
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SACHEALRE Zelol SEEQ HAE2 AL 7SS AR

A sentence 2 AU ZE AEsI0| LIE2 NSt 2t

A friend of mine who attends a music academy

is very talented. =40

A friend of mine is very talented. / grg_ipcl
oo =

friend « who attends a music academy

He wrote a short piece that the city orchestra

will play in its next program.
i Preg [%Al01]

He wrote a short piece. -
P SEAHA

piece + that the city orchestra will play in its
next program
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SEYEA 7SS sk M 7HR| ZACHBAE == AL ELICH

Subordinating Conjunctions

* | like the woman who lives next door.
ZHA[CHEAL

that, which, who )
(relative pronoun)

* | bought a new car that is very fast.
* We bought a house which is 200 years old.
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SACHEAE AFESH0]

—

A A= 22, 222 EY2 M2 ofahsieH & e 2&E
=g 101 AZSHEHSLICY.

AZst= LS LOof eLC o2l 2&S HAHHALS ALES

od

She was dancing with a student.
He had a slight limp.

[Z2] HA| =] F J7HX| TH| =2 5tol|M ZAHHALS 288t

4n
MO
oz
10
gl
]
o
-l
ofr
ot
=
o

1) 912l £ 2334 20| 22 IBE WA 2 oY NFol 2 HHBALS 8T Uofof Huict
[2] 8t 230| T2 230 Z&E BT BA/HYAIS 7RIS SFE LSS 2o Qlofof BLict

Ake| Lol F71xel g

AEEE) S2S o

[ A W oA = 2Ze '-H'Q' "*71|E mpetatof gL Ef 1 01'— -E—’é O] CtE =& Zetel SS& YA/UY
O ‘| EI:—II.—_,L
C

She was dancing with a student. < He had a slight limp.

[AZE F Ww o) 2AE = HetE 2ES TtefAntH, sie 280 ZotEl SSE SA/HEAS tHEAt B&
Al Sfgts SA0] sliF= BAIHYALZ ChRIELICH SSE SA/HEAZE ALZIO0|2HHE whoE, AFZO0[2HH ZHA|Ch

YAF which/thatS AERLICH O I SSE! HA/HBAS| H(case)at HACHEAIR| AS HF0{ F0{0F L
Ct.

l_l

She was dancing with a student. < (He = who) had a slight limp.

W £ BIEE IS 17 20| ZRE YA B2 CHYAL HEE CHSO| 9IF] A7l AloR &

I [] &
BE HZELICL #AHEO| BLHEE J|S5hH= E&(complex sentence)?t BFEEO R ELICE

She was dancing with a student who had a slight limp.
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SAHHEALS 0|8t & Z&2| 12 SIS tt3at 20| ekt 2AS) s = 4= ASLICH

I'm looking after some children. They are terribly spoilt.

I'm looking after some children who are terribly spoilt.
£2, The children (whom) I'm looking after are terribly spoilt.

* HOl2t= AR E éi*é 2 = A= SHEIE S0M, F0t &
O7h Z&t=[0f E VEfO| E)o| HEAt=s MEke|7| = Bt 5
0|2 AHEE that YAMEO[LL, SHZO| AL AL 0] <0 3
e

who + they ;x___chi:éldren

eS|
O |
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AMd, EAESE MESHH HZE = = B82 SPIESAR! andE AMESIM HZ5H= AT 7t
S

She was dancing with a student.

2t © & 2% , :

= N He had a slight limp.

SHTESAIRE HZ She was dancing with a student, and he had a slight limp.
ZACHEALZ 2 She was dancing with a student who had a slight limp.

and& AF8310{ Z&(compound sentence) YEHE F BES AASHK| ot1, A CHHALE A
8310 5Z(complex sentence) HEIEZ & &S ¢Zst= 0

HO| UABLICIEL, BACNYADE XS S44 ZEE B2 Marsloi & 23S ZaE 4
RUCH= AN 22 BR[M(economy) HELILICH SYWSALS A A0 22|, Watst 4
A BAIS E3SHE 4 QIrHe B she AHoR B 4 Lt
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ZACHEARE ZotEl MX|AMIE S A8 =R =71E mtef 5t 53 E Fd5k= X7t A E
LICt 2AZO0 %01 £ 28 S M= Ofslfstal QICHH, e HARS e
g o= QUCHA, ofF 2| E o= A= ESHYLIC.

Th r over which | w lephoning w noisy that | ldn’
BARof maEl FAIAL e bar ove c as telephoning és so noisy that | couldn’t
hear the person at the other end of the line.

[1] which = bar

[2] | was telephoning over the bar.

O|&fstE?

| was telephoning from the bar. 2t11 5H= 20| f&LICH

The bar from which | was telephoning was so noisy that | couldn’t hear
the person at the other end of the line.

AR Zetel HRIAe| HetdS HESE iy HARS e 2Ee= SR6iA XgE
HXIAL AL O1R 2| XMty S A 23 ELot
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HACHEALS] Z(case)ofl THE XetdE 2= SRk A5 A ElLITh A, J_'-f71|"*0| SO0 X|
L

—

o
82 HCH2 ofsH5tn QICHH, TaM BAES o] 2RoR el & 4 QICkH, Of 3
A Z % e g3ol ERYLIC

J__'
=
[

A0 ZehEl TR

=l TX|AL | was given this address by a man who | met on a train,

| met a man on a train.

a man2 AE=Z Hetel EF0M X = A=A H0|E? ATHHEAZL a man
CHl AME |00 StE2, SXZAo 2 HF SHR0{ F0{0F LTt

| was given this address by a man whom | met on a train,

BACHYA Ho| MBS BTrslziE ST RS iejo| 2ROz SN BAUYADL X
Blst ciyel 22 EolazEnl Eluict,
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Joj= o3t 22 Ml 7| SRS BEAE ®MSste ASLICEH

SA™ESA FANBOYS

(coordinating (For, And, Nor, But, Or, Yet,

conjunction) So)

as, because, when, while,

(subordinating Wherﬁs;’lltﬁgﬁugh,

conjunction)

SSESAM

not only ... but also
not ... but
either ... or ...

AEEAN
(correlative
conjunction)

H&(simple sentence)

HEA| 2lsiM CHE 28 HZEX| g2 =8

o

rlo

HO

« Z&(compound sentence)

« Z3E Zt 222 S E(independent clause)O|2t
MPNES

« §&(complex sentence)

« 2eE ZEOIM SETESA ZotEl BE S5F
(subordinate clause &2 dependent clause), Lt

HX| 222 FE(main clause)0|2t1 X|H

« 2&(compound-complex sentence)
-%%mEPNOVHmHﬂ:E§—=°H¢Mﬂ
ZAMAAL0| 25HAM M| 7H 0|Ate] 2xt0| Y1ZE|0f Bt

Though Mike prefers washing romantic films, he
rented the latest spy thriller, and he enjoyed it
very much.

Laura forgot her friend’s birthday, so she sent
her a card when she finally remembered.

- 0Ol ChAtS WHUTEE SiELG A8
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Z3, B2, 52, 22, £ i8S A%
g FasAte SRYLICE ufehM, 230

St= A2 &2 AE5H7| flsiM AL
&= (sentence structure types)S

BRI T 2R A5 QoM ALRE HaAle] ZRE BHEA| 2O[of 5}
1, SER LA CHsM AFRE FAle] oln], B4} Rofsts Hel 7|50
BHEA| OJ£3HK QLO{OF BHLICH.
R - 3= SeEAA BRE LIS HBote 20| T o1
OE - =& E4TAM OIZIEI [12 M2 BERA 52 24012 7|5
= S 3
T2 > S  SHEas+ 3aaM  ZER+ 282
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A

=

07} =7t= HEelst= g=

rr

=071 BHEA] ZHSHOF St Ml 7HK| HE - 20{= A&l SA2| 2|0|2 Hdste YA2= ZHO UWES
st HZ20 22| £0l= "S&” 22 "HEl|"E HISh= SAHARH|Q| 2|0] o[2ol| M| ZHA| F7F HE
(&, AlA, E)= Z3I5H3=0{0F SfLICt.

£0{7t £712 Bt FE - Yimode H2 mood) - 2012 ABE SAfSl J0IS st WACE B
3ol Lig e erdalv] mRo) Yo BEsleit L2l oF 2 20| SH(H, mood B2 mode)=
2017} E3ig 4 4iof LIt

10

ERCPNES I

—_

Slote HE - Mt BB (tense + aspect) - £0{7} Edist= SEt &El
(tense + apsect) G| =017t ZFI5HOF giL|Ct.

A
=
ot

—

oi7t Z7t2
2 AlZHE

HL FH

—

=07t F7I2 B8et= YE - EH(v0|ce) =0{9| F=H|of 2Het L F0{7} ol &0{7} ESEILICH =0
7t Z35t= AR FH|/Chet 2AIE Hats| mtetslor 207 E3ishs S2S M= olsie &= UL

=07t =712 MS3Hof ot= YEE 2Rk
|ct. =019

e - 20l= SAIZA AO| Z3st= 2[0] 0f2[0] #, Al
2k, J2|30 Ef YEE HISSHOF L Hdst=

A (inflection)2Z 0| HEE -‘-i°-—4°I=IFL| Ch
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07} HtEA| E2I5HOF Sh= M| 7HK| HE

=bXe]

. 202 MEE SAte| 2In|E 2tdste HA ez 29| LHES st | Eo 2&2

S O
x5S At

Of gL|Ct.

I

<

HSt= SAEAIA|2] 2|0] ofLfofl M| ZEX| =7t FE (™, AA, Ef) =

221



SAt= & 22 E|= 725101 Mgl 2E Al 22 JES Eaiglo.

o =
SAP Eoists =
S+ O/C D= SAte| ofo] bd BHAl(verb usage)=
=L A Hol=|of ASLICE
AT =0

(complete predicate)
=Yo| LH82 &0l= A8 SAl2] 2jn|E %***OF Moz Y LD =8, SAe| 20|12 2t
St=EH| %83._ SXH0{/=0{9] ER 0{F= 2E SAto]| ChaliA 20| "e|(define) =0 RASLIC. 0
71X 2 St Hi2 L& S5 I‘Ei%LIEH
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SAZt Zelst= EE

A%

[1] SAte] 20| E 2t 5te A2 &

ol LaS sraic) SX0| HYH L8 2 Yuo ZRE Roolie? M (mood B2 mode)
o o= 11— O - .

[2] BAbE "SI YEE B 2019t F0o{2| FAE= FAI7IR? Ell (voice)

3] EAM= “EXHO|LF “AFERY MEE T i

3] SHE TSRO TSR SRS axoit yeprt wasst NFS otRio1te? AR (tense, aspect)

si5iC,

—
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=07t F7I2 #Zolst= FH -
2. 20|12 A2E SAte| QJU|E eHdsh= WA 2 F&O| LIS M5 W20 2&0| M=
Lig2| ol E2 E&C| FH(H, mood B2 mode) =017t 23E 4 ol ASLICEH
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H1

=l (grammatical mood)= 201

= _
O|ELt E(tone)S EHRLICE &, =012 HEE MEHSI7LE modal verb(ZSAHE F71510
=Y0| s = 22| SHS Hdist= Y22 OllistH E= AYLIC (a category that
reflects the speaker’s view of the ontological character of an event. This character
maybe, for example, real or unreal, certain or possible, wished or demanded,
Britanica)

Jtoi

AE SAVE 23e HEO 7 52 =F AdAe]
= H
=

CH 7kx] S72l &

>
=
mjo
EH
ron
_o'ﬂ
r|r
-Io

ofl A2 (to express a fact)

indicative mood ofl)
Paris is the capital of France.
He was at the park yesterday.

HEE g I A2 (to express a sense of uncertainty by asking a question)

of)

Do you have the gift?
Are you sure?

What did you buy?

interrogative mood

Yol LIS LT M| AL (to express a command or a request)

of)

Take your jacket off.
Don’t talk back to me.
Pass me the salt, please.

imperative mood

of SE0| CHE &0 2lZH0[7LE, &2 EHSHK 2 oS 7rde M AL (to

express a condition, possibility, probability, permission, ability &

intentionsE E&SH= modal verb(should, would, could, may, might, can,
2t &R At
conditional mood could, must)2f 27 At
o)
If you had studied harder, you might have received better grades.
You must sleep well if you want to have energy.

A, 27, Mot 2 TPl dgto| HEHH0| AL (to express a wish, doubt,

demand, or a hypothetical situation)

of)

If | were rich, | would travel the world.
| wish | were famous.

| suggest he wear something warmer.
She requests you be there early.

subjunctive mood
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. 207t Eeists SHI}F JEfol 24 AlF} 2HEE A

245H|OF SFLICH.
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‘ 'I ?_I- o EE S =2 eV 2ds AlFo)| 2ret FEQILICE Wt O]

HEE =07t Z3oliF= A0| =2|of tELICH Jo= 2tz AlM|eE 20| 2220l M H[S3t
X = AlZEEE =28 YT HZsta AUCHs Aol FF5HM|L.

S0{7} M|l Zote AN HEL siAS Q) 7R =35t
Of efL|Ct.

o

H Z9| siLio|2 = Hii= X|X| 2ot

MA|

past continuous)
past perfect)
2Z E&(past perfect continous)

o
(3

A (past)

U VR i

—_ . -

Sl (present)

@ g g
>
0z

)
)
D
[72)
D
o}
—
(@)
(@]
o}
[t
5
C
(@]
C

L

>
= = =

2= (present perfect)
223 (present perfect continuous)

>

tha= 0|2 (future simple)

0|2 ZI3H(future continious)

0|2f2tE (future perfect)
O[2hetE T8 (future perfect continuous)

O[2H(future)

227



2t= AlR|2| of0] mefof| F=o|StMIL.

| lost the key.

Ao PAE S0 HFACH ©

H>
>
n=
=
K

i)
i}
ox
HT
ra
|
OH
g'y
i
il

| have lost the key.

0] E4E Y0 MR, 3 1pA2] AMaO| #Ro| = FeFS DIX|1 ACt= 2fn|obA Zetstn R

= HEQULICH =, 0{T5| G418 R D = AOX|Q. O|FA &= AlFl= 7|F0] == Azt 2l
E S0{M ST E, present perfect2t™ 7|E2 present)0ilA 1 A|ZH O|™ Q| A[ZHO| 7|E0| &=

AlZhol| Febs x| QICH= Ateol| 2het FHEOPY NS eL|ct.
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=& (sentence) 2 ZtH(paragraph) U] AlM|= L2t=|7| {X| =[0{0F giL|CH J=X| 4=
A2 tense shift error?} 2 lBL|C},

"What is an example of an unmotivated shift in tense in writing? One example is
starting a story in past tense and suddenly shifting into present tense:
Last week | was walking along a street when this man walks up to me and says . . .

We do this in speech all the time, but in formal writing it's considered to be
an error." — Edward L. Smith and Stephen A. Bernhardt, Writing At Work:
Professional Writing Skills for People on the Job. NTC Publishing, 1997)

"Tense places the action of the verb in time: Today | go. Yesterday | went.
Tomorrow [ will go. Different verbs in a sentence or paragraph may logically use
different tenses to reflect actions at different times.

We will play tennis before we eat breakfast but after we have had our coffee.

The tense you select to describe most of the actions in your paper is called
the governing tense. Once you establish it, do not use another tense without a
good reason. . . .

"The literary present tense is used to describe literature or art. If you use it, do so
consistently." —Toby Fulwiler and Alan R. Hayakawa, The Blair Handbook. Prentice
Hall, 2003
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https://www.thoughtco.com/tense-grammar-1692532
https://www.thoughtco.com/literary-present-verbs-term-1691251
https://www.thoughtco.com/what-is-a-formal-essay-1690805
https://www.thoughtco.com/grammatical-error-usage-1690911

J2iA tense shift error T2 S2E HAE st 2HEEH Btot 2X|7F A0 &H| =1 )
&L|Ct
= .

Ever since Alice discovered the secret elevator, she uses it to travel between the
first and second floors and to avoid crowds in the hallway.

(A)No change
(B) has used
(C)used

(D)

D)will have used

Ever since ...discovered (72| EH AN O|=2H) X|&E[= SES2 LIE
L|C} kA, LHA LZHE|A| has used 2 A|H|E GH0{ Z=0{0F §HL|Ct.
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LZ8l = time adverb2t 22| A|X|0f| FFsHAM AUHENM|L.

Yesterday there was a forest of corn here. Thomas remembered racing
through it blindly, his forearms raised to protect his face from the rough

leaves. Playing in the corn was one of his pastimes, a pastime of any boy
who lived on a farm that planted it. He would run until he was out of breath,
gasping and disoriented by the spears of green towering over his head. It's
easy to become lost in a corn field, to walk in endless circles. It's easier still,
by picking a row of corn and following it out, to leave. Leaving the corn was
easy.

$i5t= EAHtime adverb)2t £0{7} &

ron

15H= A|R|E HIEtOZ 11 FAloZ Mast
2 Y £ JASLICH HAE s|4stn Qs AO|ZE. SR AMZ ZHAE7| HEEHA A
= LHE0| fact2t ZEEHLICt J2|10 3 factE 29| £ 1} Chb|(contrast) Al

LEA- AN #HsH= =0 =|7| 20| 288 S0tE PHE7| = LT J2iA, tense shift
errorE Y&2] X&lst= 47t JISLICH THY, tense shift errorgh= 1&]0] AICHH O|H
sote| M= 0[0| S ZAULICH- “Of A7t ZAE7| B A2t QIASHA| BHED, 1 0|7
M2tstA| ShEL|Ct fLkstH HHRX| 210 YEHE[H|(coherently) AM&ot= 20| {IE|0|L|7t

FO i tol

Blood, a connective tissue, is a sticky fluid that has multiple functions. It
transports oxygen, nutrients, and other solutes to cells; carries away
metabolic wastes and secretions; and helps stabilize internal pH. Plasma, red
blood cells, white blood cells, and platelets are its components.

Plasma, which is mostly water, functions as a transport medium for
blood cells and platelets. It also serves as a solvent for ions and molecules,
including hundreds of different kinds of plasma proteins. Some of the plasma
proteins transport lipids and fat-soluble vitamins through the body. Others
have roles in blood clotting or in defense against pathogens. Collectively,
the concentration of plasma proteins affects the blood's fluid volume, for it
influences the movement of water between blood and intkrstitialfluid.

fact0|7| 20| 2= SdxH AR|Z ZE3ist ASLICt LHE0| B2tMXO0|2ts MZf0] SX| gLt
Q7
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=0{2f AH|of] F=3HA SHHEML.

For some reason, part of the first grade was spent in another school,
and | remember the last day there. In the excitement we rush pell-mell
through the long closet to grab our sweaters and lunchpails on the way out.
In the mad scramble, my hip collides sharply with the corner of a stored
desk. The pain makes me stop and cry. The summoned teacher is moved to
pick me up and carry me back into the classroom. She sits down in one of
the children's seats, cradles me on her lap and cuddles me. "Ah," she
explains to the children who are gathering around us in curiosity. "The poor
dear, she's crying because it's the last day of school!" Her own inner bruise
transferred to me, she rocks me tenderly. She gives me a picture book to
take home for my very own, such sweet consolation.

It was not outright fraud, you know. | do not think my English at six
was flexible enough to go into the details of the situation. But there is more
than one lesson connected with that incident. The value of dissembling? The
value of silence? The realization that there were some teachers who truly
loved teaching, for whom the prospect of school vacation was a desolation?
Or maybe only the side benefits of being wounded.

It was at this same school that | spent the longest day of my whole life.
| think it was Memorial Day and the bus must have come to pick us up in
the morning because | don't know how else | would have gotten to school.

tense shift errorE Ho{{7IHA S AI™HOf| A ZpH2| Y2 346t QL= M2 &
UESLICE.

O{2E2 O XES 960 71EHM =071 ZH5t= ARIE SOt MEMA ZOF7H QlLt
Q7 MRS ™7IX 2™ 2t 2F0| M= 02 28 YEHE =Xl= Aolets 42

OISIAILIR?
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PSEI9N
—1Hd o
5

AR 2 2

1

AX| EHEke] 7]E

g5
o

2t (coherene)

|
(L
5

—

AlZES LIEfUE BAF

2 ZE U AR AtE &

BHCH 2 X| 20|29t BEI5I0] AIHIS
Q10{0F BHLICH tE3t AlZHS LIERHS £Ate] ojnj= Hat

r|:|

tHoh= & 71K 7| &S HaElstA 20
f7 |, 22[1 FRH2Z HOLENL

ol

10{0f BICH= 7|& I%|

tense shift7} § ™
FYEO| HZ

L S0 &= Al

ZEE A|ZHS LIEHE SAL0] SHe RS A7

e

HX|A, ago, when &

SHE AIZHS B3lsts in
o

= Che AIHIQEALE

« CHE AZITHE G50l £10 AL E|l= A2t E8iste
by XA, for ERIAME, yet2 2tE A|X|2F &HA
AHE

233



of &= ENE E0EML.

Invertebrates are animals without vertebrae. Arthropods, including arachnids
that has eight legs, are in this phylum. Some species in this phylum include
scorpions, spiders, and ticks. There are over 45,000 known species of spiders;
however, scientists estimate that the same number are still undiscovered.

factO|22 have (subject-predicate number agreement 2= X|70FZI%7?)

In 1994, the Asian Cultural Council awarded Murakami a fellowship that allowed
him to spend a year in New York, where he established a small studio. When he
returned to Japan, he further developed his artistic vision and has begun to exhibit

his work at galleries and museums in Europe and the United States.

In 1994 — 1t
When he returned to Japan ... developed and began ... (L{&% parallel

structure)
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ﬂllﬂl ﬂH>

02

HSIS
R =l

Aol 23t HEE F0{7t ot

M
(o)

mfetslof 207t &

_Ef

S5}

(voice)

L X2
- o=

£&0{7t T35

HICHZ 0|5

rIJQ'.'—.-

L|C
i
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& 71X Eli(voice)

SEf(active voice) The thief stole the diamond.

—
s
+SEl(passive voice) The diamond was stolen.

FO{2t £0{9| 2t7|= F0{7} otl =07 THfLICt. A7|5HE? SHX|2, S| MI[si & &
OtgLIC EF2l LIE2 02 MEE SAe| 2J0|E 2H5h= WAooz Fd5HE0te. 28

ol HEE2 Z= =0{0ILITR

26| Po{= FO0{7F £0{7F HHSh= "S22| FA|7t Ot ARE 518313 JELICH ol
20| LML R? SEQ| FHIE RE2=H {EH FOE XHAFAAHLR?

ColOtREE EXI7H HOI0| r2X| BECHT JFYsEE. HOI0| F3I7| HIHK| EXZH Al
I S5 #0IE. BH IS ES0/2HD XIFSH=G], 018 ES02HD 4 5 S8
B HTBCIT 2 4 ofF. I Hlols X2f2). 03 “X2f2| 2| HRNS SHAIH Fojof
& Z27} SuyLIct

22 U F012 47|14 8 FE US 4 YBLICH THEE LB DHYRES Hoj =
21 ZALICH Roi2 1 70{0] 0f2{20] SHHAE HEZXIR? $70kE. F0IS...
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EYO| EiE M2 %0t 7t= &20] S0 UX| oW =07t Eelst= SH2| FXE =
XA ELIct. stisfo] Yol =| 1, S8t B 2 EAEY Bt XS XA Lo

—

Mr. Brown wanted his students to learn math in the context of real life. He
felt it was not enough for them just to work out problems from a book. To show his
students how math could really help them, he held several contests during the
year. The contests allowed his students to have fun while they practiced math and
raised money. Once he filled a fishbowl with marbles, asked the students to guess
how many marbles there were, and awarded a free lunch to the winner. Another
time they entered a contest to guess how many soda cans the back of a pickup
truck was held. To win, they had to practice their skills at estimating, multiplying,
dividing, and measuring. They used most of the prize money for an end-of-the-
year field trip.

pickup truck2 soda cansE 11 U= FH|7} SHELICE MEEM active voice2 EH
SHOF BfLCt.
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=07t 72 MSH0F o= FEE Helot=

SAEA 7(P‘.JOI Eiﬁf'— o|n] ofefof & *I’* _'EI Ef =S HMS3H0F LTt =02
H
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S ' od
of 2t3ff o]n| =gt Zi0[ 1 A2} BLICE. oS S0{M, dogl| S+ 2 dogs2 EIsh= 42
2 =00 YENH HetE F0IM TESH= 2|0|2] Xt0|Z 2SX|LHENH ! xto|7} giZo= =
F5ta o|ojAk Xto| & metd 4= QCHH .. 1t J7| 7Hs$t7tR7?). 2|0|F X018 BHE7| fIsiA
THofol| 75Xl = HENEIQ! XO]E inflectionOl2t 1 X|EBfLICt.

YALS| E4+HE Holot= WHO|LE, F0{7f Bh~0|1, A7 SXHY M =012 HE§lol= B
b 1= =

ol

17} e
’aneCtlon is a form of morphology (word formation process) in

which a base word is altered to show grammatical meaning and category,
such as tense, aspect, number, mood, or person. Typically, inflected word
go through an affixation process, whereby a letter, or a number of letters, is
added to the base word to show the grammatical change. For example, sing
- singing - here, the inflexional suffix '-ing’ indicates the action is ongoing.

"

(https://www.studysmarter.co.uk/explanations/english/english-lanquage-
study/inflection/)
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EH
(passive
voice)

of2 oM X0, )\l?_ HEE=
= B30} BLICH XEH4T} BX

7k %712 HZsfof & He o
AAI:IL‘|E'|-

past
ate
had eaten
had been )
) was eating
eating
was eaten
had been
eaten
had been was being
being eaten eaten

BE
|O
L
=2 1T
= 1L

Sist|ofl=

has eaten

has been
eating

has been
eaten

has been
being eaten

&o| A

odoHOl: St I‘|EO|__IL

g , O] AfEHOILA EfL}
20{2 AIBE SAto] HEIZ HHAT|= 2T 20]

HEH #2t7t H2 ChefsiX| = EHE0| e -

present

eat

is eating

is eaten

is being eaten

J2iA notsl|H JIEHO| ZEAE FIMH 2 AHESI0{ Chefst g0
YHULICH =E, 0] LO| 2AHSICIL Ojop7[&

2t modal verb7t ESEH #d &I
HO| Q7| 20| AFS =02 WHo|2H= M2 2

MX, 207t F7I2 HB3Ho
(auxiliary verb)Lt B

S Xsts “2iChet AR f3IctH, £0f

[Heh oS |ISH0R.

ICHs AMAS

£ st Al

will have eaten

will have been
eating

will have been
eaten

will have been
being eaten

e
OII

future

will eat

will be eating

will be eaten

will be being
eaten

Oz ti8sh= A9
f: auxiliary verb

HE Z0|&. ohX|2h, CHE et ErtsE 28 B

—

oist 740l |__| [_-_|..
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A|ZHE LIEFLK
= ZSAM(modal verb)E ASFM Q. 2|10 ZFAIR} inflection
of HEfZI Y1 Q= F7H YEHE mwhet st=n O o

—
=






—_—

2% - 2HQA + $A0| - 2 02X 2R} £A0{2 THELICH

HHAXO| J|s - YA X (parallelism 2 parallel structure)= F 7 0|A2| Z2 7|5S +Hst= B
¥4 22 £40E EZ00| FI6HM A8 4= UAEE SHFLIL.

HE X oot Wy - HE R0 ZeE HE UY2 EHRAEM, E2 £A0ZEM E2 7|5E oig =
A= 200 Tf(TH0], 2tFst =0 T8 52 HXIAS F3)0[0{0F FLIC. = 7 Ol&f2] o|n| Tel7t (1AL
Of0F StE 2 MEAMT HIEA| ZtL|ot HATZXE 2dsts #&S OlalstH HETPXE &7 otefed

ASLILH.

E= 2o - 28 Hgel Brlg=E fleiM, 22|11 ZRH2 2 clarityS =0(7] 2
SiM EERE Lol 2etE SSEl F22 AerefLich H2 Y-S M2 mefshx| 2ot Yake B2
A

MatEl B rj2o) WRTE Diol] B2 e 4 YALICH Mee dso) £

A

SHQA0t 0] T2 52(0| 2 - MG 20| FSOE CIE Fl= 2H2L0t 24 B RS2 7Y
BHe 4401 B2, 2AICk40| T2 5212 Yo 20| LIS 7 mHoknt iAS U5t A STt of
= 7HX| 220 ALFHKIX| 22 MeHolM WUTE ot B2, WL EatE RS HhR 34 5t
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o 24l0{2 FAELICH
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22 =22 #40{TS Zalst 5= JUSLICE oz LEX
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Mending and restoring
objects often require even
more creativity than original
production.

The preindustrial blacksmith
made things to order for
people in his immediate
community; customizing the
product, modifying or
transforming it according to
the user, was routine.

Customers would bring
things back if something
went wrong; repair was thus
an extension of fabrication.

With industrialization and
eventually with mass
production, making things
became the province of
machine tenders with limited
knowledge.

However, repair continued to
require a larger grasp of
design and materials, an
understanding of the whole
and a comprehension of the
designer’s intentions.

sxo4
Mending and restoring objects
often require even more creativity
than original production.

The preindustrial blacksmith made
things to order for people in his
immediate community;
customizing the product,
modifying or transforming it
according to the user, was routine.

Customers would bring things
back if something went wrong;
repair was thus an extension of
fabrication.

With industrialization and
eventually with mass production,
making things became the
province of machine tenders with
limited knowledge.

However, repair continued to
require a larger grasp of design
and materials, an understanding of
the whole and a comprehension of
the designer’s intentions.
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Mending and restoring objects
often require even more creativity
than original production.

The preindustrial blacksmith made
things to order for people in his
immediate community;
customizing the product,
modifying or transforming it
according to the user, was routine.

Customers would bring things
back if something went wrong;
repair was thus an extension of
fabrication.

With industrialization and
eventually with mass production,
making things became the
province of machine tenders with
limited knowledge.

However, repair continued to
require a larger grasp of design
and materials, an understanding of
the whole and a comprehension of
the designer’s intentions.
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Mending and restoring objects
often require even more creativity
than original production.

— SOAIS £ 7 =2 AIRE| T
SLIC}

The preindustrial blacksmith made
things to order for people in his
immediate community;
customizing the product,
modifying or transforming it
according to the user, was
routine.

SLict.

With industrialization and

became® $Al8lIZ= with MX|AFL  eventually with mass production,

S 7 £A0{2 AR E|T QIELICE. making things became the

- province of machine tenders with

limited knowledge.

However, repair continued to

summative modifiers F85t= . .
require a larger grasp of design

understanding2 $AsllF& of TX|
AT E 7071 202 AR 2|1 UEL

Cr. —
- the designer’s intentions.
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Mending and restoring objects often require FOHZ 7|55t= SHAILIt andZ Do HHAXE

even more creativity than original production. 14

The preindustrial blacksmith made things to
order for people in his immediate community;

o 7|55t =8 7 ol |of e =
customizing the product, modifying or F0I2 7ls3ts SEAI7tand= 912 =lof Y7z

A

transforming it according to the user, was e

routine.

With industrialization and eventually with mass

production, making things became the became2 FAIGIFE 7|52 MX|A = 717t and
province of machine tenders with limited 2 0Z g|of HEAXE 31N

knowledge.

However, repair continued to require a larger

grasp of design and materials, an understanding2 $FASIFE 7152 XA =
understanding of the whole and a W7t andZ 91Z |0 HHRXE 1N

comprehension of the designer’s intentions.
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Sentences with grammar
glitches

Tom or Jerry are friends.

In chess, remember these three
goals: get your pieces to the center,
capture the opposing pieces, and
attacking the opposing king.

Fans of Teresa admire her ability to
sing, her passion for performance,
and she has good looks.

The baby cralwed quickly, sleeps
softly, and cried loudly.

The fashion designer was praised for
her creative, comfortable, and her
having innovative clothing.

| respect his eloquence and that he
is brave.

Hunting under the moonlight and to
howl on top of the mountains were
instinctual when the full moon
appeared above the werewolves.

| like singing more than dance.

To learn what it means to love
someone is accpeting the falws of
others.

The school was designed to be a
place in which creativity would be
celebrated and hard word was
rewarded there.

The principal planned to improve
teacher training and clearer rules for
student conduct should be
established.

The people who ride the bus or
have taken the train can't afford to
drive to work.

Tom and Jerry

get your pieces to the center, capture the
opposing pieces, and attack the opposing

king

her ability to sing, her passion for
performance, and her good looks

cralwed quickly, slept softly, and cried loudly

creative, comfortable, and innovative
clothing

eloguence and bravery

Hunting under the moonlight and howling on
top of the mountains £,

To hunt under the moonlight and to how on
top of the mountains

singing ...than dancing

To learn what it meas to love someone is to
accpet the falws of others

creativity would be celebrated and hard word

(would be) rewarded

to improve teacher training and (to) establish
clearer rules for student conduct

ride the bus or take the train
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In chess, remember these three
goals: get your pieces to the center,
capture the opposing pieces, and

attacking the opposing king.
Fans of Teresa admire her ability to
sing, her passion for performance,

HEHARO| B|AE(list) ZBH0|| F=5HM[2. W CHA0| M| 71 o|&0]2HH ZHOKcomma)
7t 2t & CfatES =0l 0{0F RfLICE ObX|2f 2= Ci2f OfO[&|l HEZ 2Hof| LAV} 2
X[et= A2 L5t
hefA, EEARRE FOkA| 7 O &2 WE O 42)= WX mtelof 288
= 2%t sIEQIL|CY,
Sentences with grammar WX E 050 £ 2|AE Eoio] M&Atet o}
glitches (Z HE g2 UEZE HEA)
Tom or Jerry are friends. Tom and Jerry
get your pieces to the center, capture the opposing pieces, and attack
the opposing king
her ability to sing, her passion for performance, and her good looks

cralwed quickly, slept softly, and cried loudly

creative, comfortable, and innovative clothing

and she has good looks.
The baby cralwed quickly, sleeps

softly, and cried loudly.
The fashion designer was praised for
her creative, comfortable, and her
having innovative clothing.
| respect his eloquence and that he
) eloguence and bravery
is brave.
Hunting under the moonlight and to  Hunting under the moonlight and howling on top of the mountains &
howl on top of the mountains were 2,
instinctual when the full moon
appeared above the werewolves. To hunt under the moonlight and to how on top of the mountains
singing ...than dancing
To learn what it meas to love someone is to accpet the falws of others

| like singing more than dance.
To learn what it means to love

someone is accpeting the falws of
creativity would be celebrated and hard word (would be) rewarded

to improve teacher training and (to) establish clearer rules for student

others.
The school was designed to be a
place in which creativity would be

celebrated and hard word was

rewarded there.
The principal planned to improve
teacher training and clearer rules for
conduct

student conduct should be
ride the bus or take the train

established.
The people who ride the bus or
have taken the train can't afford to
250

drive to work.
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Tom or Jerry are friends.

In chess, remember these three
goals: get your pieces to the center,
capture the opposing pieces, and
attacking the opposing king.

Fans of Teresa admire her ability to
sing, her passion for performance,
and she has good looks.

The baby cralwed quickly, sleeps
softly, and cried loudly.

The fashion designer was praised for
her creative, comfortable, and her
having innovative clothing.

| respect his eloquence and that he
is brave.

Hunting under the moonlight and to
howl on top of the mountains were
instinctual when the full moon
appeared above the werewolves.

| like singing more than dance.

To learn what it means to love
someone is accpeting the falws of
others.

The school was designed to be a
place in which creativity would be
celebrated and hard word was
rewarded there.

The principal planned to improve
teacher training and clearer rules for
student conduct should be
established.

The people who ride the bus or
have taken the train can't afford to
drive to work.

Tom and Jerry

get your pieces to the center, capture the
opposing pieces, and attack the opposing

king

her ability to sing, her passion for
performance, and her good looks

cralwed quickly, slept softly, and cried loudly

creative, comfortable, and innovative
clothing

eloguence and bravery

Hunting under the moonlight and howling on
top of the mountains £,

To hunt under the moonlight and to how on
top of the mountains

singing ...than dancing

To learn what it meas to love someone is to
accpet the falws of others

creativity would be celebrated and hard word

(would be) rewarded

to improve teacher training and (to) establish
clearer rules for student conduct

ride the bus or take the train

251

are?2| 0

10
fu
1
1z
ol
Y

goals& 7HIA =
colon C}29| 2HHst 20| F2
2|AEQ| Y

admireQ| 2= 0]

The babyE F02 7IX[= &
Mgt =0

clothing2 #4|3t slii=&= (8
AR =2{0f

respect2| F% 0]

SHAIR F0 E2 to BEHAR
0
than ZOIM likeQ| S0

ZF0 to BE™HAIFO| k= to B

FAtT Hof

planned?| SZE0{E AL
HHAR

r



QEX| RO Y=g WHIXE IS0 F=
T HIEA| 7| SM| Q. [HatA], AFRFRIS AR
ZE O|F0{0f gfL|Ct.

AR LA * Either the company’s president or her assistant will be present at the

meeting later on this afternoon.

* According to the politician, neither the recent crisis nor any other
period of economic turmoil had been caused by environmental
protection policies.

* Apples not only taste very good, but they also contain numerous
essential vitamins and minerals.

* The news station, while successful, trails its competitor in both the
morning and the evening news broadcast.

¢ Although she began training later than many other gymnasts, Jessica
is just as good an athlete as many of her competitors.

e Just as Thomas Edison is known for inventing the electric light bulb,
so is Albert Einstein is known for developing a theory of general
relativity.

* No sooner had the senator announced her intention not run for re-
election than the media began to speculate about the next stage of
her political career.

® The researchers called for enforcement of existing cigarette sale
regulations as well as investigation of teenagers’ motivations for
smoking.

* When purchasing a computer, many people find it difficult to decide
between buying a Macintosh and buying a different brand.

]

Hhof| ... e Aislike B
® A more than B
* prefer Ato B
® more A than B

* The shift from monarchy to totalitarianism occurred in Russia over a
remarkably short period of time in the early twentieth century.
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| like to swim, to run, and to dance. (O)
| like to swim, run, and dance. (O)

| like to swim, run, and to dance. (X)

oM
rlo

like2| SHO|Z AL El to AT Ml 7HE HE = FOf
TZLCt.

5 Ui 2F0IN HOIXIE M SHOIZ to LA} AL]
EIQICHS 242 WRTE Lo| & Y S chalol EAIsRD,

- A= o2

LIHX| & 7H2] to RYATE toS ERISLICH

= B 2 Chatol o7} X QUCHs B SafM, 221 A
| W YT 108 T1RIX] SUTHE S SHA to 2
AT M 747 2 AEINICH HE S| TiotE 4 3
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=&, LHIEY2Z M 719] to BEATIL like2| SHOZ AE
E|ACH=E AHEE Tfofsh= Ak 2| OfFEX| SELICH

runOfl toZt 87| =20l to7t M2k =[ICt EHERACEZE 2 o
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We found a car rental place and chose a
Volkswagen Beetle that was inexpensive to
rent and easy to drive. It was perfect for
taking us through the streets of Paris and
to show us the popular tourist sites. The
history of Paris dates back to the third
century. ...

It didn't take long for us to realize there
was no way we could see everything in just
a few hours, so we just toured the usual
tourist attractions like the Louvre, the Eiffel
tower, and we went to the Arc de

triomphe.
By having a budget and we stick to it, we

had enough money to try a three star
Michelin restaurant afterwards!

HRM perfectE =AaIF= F 72| for MX|AMEIF HE R
£ O|F0{0f BiLICE. wH2tA, for taking us through the
streets of Paris and (for) showing us the popular
tourist sites.2 & |0{Of &iL|Ct.

LI 4 like TX[AF M| 707t HEFEE O|F0{OF BfL|CH. I}
2fA], like2t Zetat0] MX|AAE ':'@01 == YAPL ok gt
L|C}. like the Louvre, (like) the Eiffel tower, and (like)
the Arc de Triomphe

&4 hadE #4ldiF= F M2 by BXIAH7 HEAXE
O|F0{0F RHLIC}. [t byt ZRlsh= & 70| TX|AEIE
Qtof §L|Ct. By having a budget and (by) stiking to it
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Mending and restoring objects often
require even more creativity than
original production.

The preindustrial blacksmith made
things to order for people in his
immediate community; customizing
the product, modifying or
transforming it according to the user,
was routine.

With industrialization and eventually
with mass production, making things
became the province of machine
tenders with limited knowledge.

However, repair continued to require
a larger grasp of design and materials,
an understanding of the whole and a
comprehension of the designer’s
intentions.

J

— SBAT T 17 FO{Z ALE|D AUELICEH

— SYAT M 717 Fol= M= JELICH

— became2 $ANFE with FX[IAIR = 707t £AHZ AR £

AL

< summative modifierE F&5t= understandingO| of X|A}
5 7Hof| 2fsiA AE|TD QUELICE
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We found a car rental place and chose a
Volkswagen Beetle that was inexpensive to
rent and easy to drive. It was perfect for
taking us through the streets of Paris and
to show us the popular tourist sites. The
history of Paris dates back to the third
century. ...

It didn't take long for us to realize there
was no way we could see everything in just
a few hours, so we just toured the usual
tourist attractions like the Louvre, the Eiffel
tower, and we went to the Arc de

triomphe.

By having a budget and we stick to it, we
had enough money to try a three star
Michelin restaurant afterwards!

L84 perfectE F=A5i1F= F 12| for TRIA7L HE L
ZAE 0|1 UCt= S & == AUGLICL WELM, for taking
us throught the streets of Paris and (for) showing us
the popular tourist sites.2 3 |00} &HL|C},

LHE4) like ®XIAFT M| 77t HEFXE O|FR 1 QCH= HS
ok = JASLICH M2k, likeRt ZElot0] MXIALRE THEO| F
= YAt 2t0F SHLICE. like the Louvre, the Eiffel tower,
and the Arc de Triomphe

L84 hadE AT E F 712 by XA HEBRXE
O|F1 QUCt= WE & = JUSLICEH mEkM byt Zelste F
7He| HXIAFZ} 2L0F BHLICH By having a budget and
(by) stiking to it
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a0l =&0]| == collocation?] O[3

collocation®] 2] - 0f2{ 72| £017} &7 AR (0] B 7HX| 2|08 ESE 4 YBLICE B RSO
EHI5HE O|0IS HE Chof7t MESHe Li80) Broz FAE 4 Uk F9E U, W

T Zit== X|Yste 2eHH0| 10 FYelet E0{2f1 OlshstM <.

2. TXAZL ZEHE collocation - phrasal verbeE £&, @&AE + MRIAL, HAL + TX|ALO]| ZahEl TX[AL

7t HEE F= e ZEE SAL FEAL BALE +AFLICL

3. 5 7HX| o] ATH - collocation2 LR = 20| 0| QJUELICEH 20|, F 7kX| S ATHEHL|CE SHt= 01
20| CIRZC YHotA ZHIZ AF2E 4= U1, HIAAEOI 2X0|2tH XIQEH &85 4 = ML Ct, =
CIE stLt= 0{2{20] LU8HOF 5t= A IL|Ct.

260



Collocation2| A9

1. 0f2{ 74| EtO{7} B ALBEIO| Bt 7HK| o|n|2 EHE AFBE|O] B
M Erof7h MErshe LHBO SR HAt 4 9l F9E AT, MEE £ gl F2E UL
Collocation® 0f2{ 7] £H0{7} B 2044 BiLte] o|0|S Edtst= FS L
AMSS X|Fsts YHHE0|T LHQIE BOf2T OfsHHA
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COL + LOCATION

ZZ270|M(collocation)2 &7H ALE E|l= & 7 &2 THo] 2E0| 2HE0{Z Aut=2 2|0| gLt E9|
A7 E20{Ql ARISO0| AIESH= EF 2

A collocation is a pair or group of two or more words that are often used together by
native speaker.

X 0)
yellow hair blond hair
get friends make friends
do mistakes make mistakes
strong rain heave rain
fast meal quick meal

10{210[Lt HOE Of= THE 2/=2l2 OlsE 7Hs-d0l =&LICt. shxgt, 1 20|

—

[=]
2AeHE A2 S2|X| ZFZUE. CollocationS 25 8H0F & 0| IL|Ct.
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Collocations, idioms, phrasal verbs?t 12=|X| &1 =& &[0 QUSLICH HA 272to| Fo|E 4T
HE.

X 0)

A collocation is a word or phrase
which is frequently used with

collocations another word or phrase, in a way
that sounds correct to speakers of
the language.

An expression whose meaning is
different from the meaning of the

idioms individual words. ex) to have your
feet on the ground = to be
sensible.

A combination of words that is
used like a verb and consists of a
verb and an adverb or preposition.
ex) give in, come up with

phrasal verbs

https://www.onestopenglish.com/download?ac=1509

2{Zto| HolE {0l Mo F=UXIT, & 7HX| SSH Q! FHO| ASLICH F 7 Ol &2f THo{7t 8i7H| 24094
£ 9oI0|E E&giTh= FYLICh 017|)\‘| Fae A2 "M Ml = AFR LT MEkM, collocation
2 idioms2t phrasal verbsE Z&t5H= 80 HTZ O[ai5tMI2. 21018 MS5HA 7 OtL|=?

By definition, phrasal verbs are collocations (two or more words that “go together”), but
not all collocations are phrasal verbs. (https://ieltsonlinetests.com/whats-difference-
between-phrasal-verb-and-collocation )
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collocation2 CIFSH £HO| X

Types of Collocation

launch a product
play a trick

create opportunities
do homework

make the bed
accept an apology

Verb + Noun

action movie
contact details
Noun + Noun desk job
interest rate
job opportunity

empty promise

tough question

alternative medicine
Adjective + Noun bad breath

bad temper

common knowledge

bright future

boiling hot
Adjective + Adjective neat and tidy
safe and sound

all along
far away
right away
just now
long ago
quite often

Adverb + Adjective

eat properly

Verb + Adverb read aloud

burst into tears
Verb + Preposition be filled with
run out of
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CHE2 phrasal verbs2| O LIC}. Z2f SAtRt &4 At E|l= TX|ALE ST SALE A2 7t
K= XA E BHELIC.

Verb + Preposition Combinations

V + about V + at V + for V + of V + off
ask guess apologize complain I break
complain laugh ask die (also die from) call
dream r look r buy r dream cut
forget smile do getrid fall
talk r stare r look r think jump
think yell make keep
worry pay live
study take
thank turn
V +on V + to §V+toward V + with V +in
count ] agree L head ; agree excel
disagree apologize turn argue succeed
have ] be used L walk : break up
keep belong E work compete
pick L complain L l cooperate :
put i contribute disagree l
rely ] explain L : fill
take introduce get along
wait L listen L L help
work object finish
L pay attention work
l relate l l
reply I
say
r speak :r r l
talk
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.........................................................................................................................

A + about, at, for, A + by, with A + for A + from
angry about/at/with |  bored by/with | accountable | different
“concerned sbout/with | embarrassedby | bad L dvorced
"""" excitedabout | fustratedby/with | good | isolated
 happyabouvwith | i eady 4
""" somyaboutfor | | necesary i
unhappyabouthwith | i i

A + in, with A + of A + to A + with
disappointed in/with afraid boring familiar
interested in irfond r committed r impressed

guilty confusing pleased
in favor | important satisfied
] proud married :
sure/unsure opposed ;
irtired ' pleasing E

.........................................................................................................................

.........................................................................................................................

i unimportant
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Zf AL e AHE El= HRIME S HAIE A = d= TXIAE ZHELIC.

N + about : N + between ; N + on : Noun + to
confusion : difference : advice : alternative
------------------------------ I L L L e e L L L e L L L L T
question ; ; tax ; connection

: : : damage
: : : invitation
------------------------------
: : : reaction
; : i reply
: E : solution
------------------------------
N + of : N + for : N +in : Noun + with
------------------------------ R R e EE O E P e D L P e e L PR L CE PRt DECEPEE LR POREEEPPERERET PEPEEE
advantage : answer : background : agreement
------------------------------ R e R L]
benefit ; application ; change ; connection
cause : check : decrease : contact
cost : concern : experience : contract
decrease : demand : fall : experience
.............................. R L T T A L L o T T
diagram ; excuse ; increase ; the matter
example : fondness : interest : negotiations
"""""""""""""""" [ T T T T T T T TS E =
experience ; interview ; rise ; trouble
fall ; need ; ;
group E order : E
illustration : payment : :
increase : question : :
______________________________
lack : reason : :
..............................
map : request : :
______________________________
opinion 5 something : 5
payment ; ; ;
photograph : ; ;
------------------------------ L B T L EETECEEEr
picture : : :
------------------------------
price ; ; ;
rise ; ; ;
understanding ; ; ;
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